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ENGLISH TEST
45 Minutes—75 Questions

DIRECTIONS: In the five passages that follow, certain
words and phrases are underlined and numbered. In
the right-hand column, you will find alternatives for the
underlined part. In most cases, you are to choose the
one that best expresses the idea, makes the statement

appropriate for standard written English, or is worded. -

most consistently with the style and tone of the passage

as a whole. If you think the original version is best, .

choose “NO CHANGE.” In some cases, you will find .in
the right-hand column a question about the underlined
part. You are to choose the best answer to the question.

You will élso; find questions about a section of the paé-
sage, or about the passage as a whole. These questions

‘do notrefer to an underlined portion of the .passage, but

rather are identified by a number or numbers in a box.
For each question, choose the alternative you consider

- best and fill in the corresponding oval on your answer

document. Read each passage through once before you
begin to answer the questions that accompany it. For
many of the questions, you must read several sentences
beyond the question to determine the answer. Be sure
that you have read far enough ahead each time you
choose an alternative. :

‘PASSAGE |
Amy Tan: The Secret of Her Success
(1]
In the home of Amy Ta,n’s editor, alarge
. blowup of a 1991 New York Times best-seller

list was hung on the wall. The number one
1

novel, Amy Tan’s The Kitchen God’s Wife, is boldly

2

circled. For Tan, the reward of writing is not found -

in how many books she sells, but if she were to learn
. .
about herself from writing them.

ACT-55C-SAMPLE

NO CHANGE
hangs

hung

was hanging

NO CHANGE

novel, Amy Tan’s The Kttchen God s sze is
boldly '
novel Amy Tan’s The Kitchen God’'s Wife, 1
‘boldly,

novel: Amy Tan’ s The Kitchen God’s Wife, is
boldly

= ® om gowr

3. At this point, the writer would like to contrast Tan’s
response to her accomplishments to her editor’s
response. Which of the following sentences (assuming
all are true), if added here, would most successfully -
achieve this effect?

Tan is considered one of America’s best authors.
Success is only one measure of a person, however.
Tan says fame can result in a loss of privacy.

No such symbols of 'success hang-in Tan’s home.

NO CHANGE

in what she has learned
if she would learn
‘what'is she to learn

’& .
sped wowp

GO ON TO THE NEXT PAGE.



(2]
E| [1] After college, she spent many

unsatisfying years writing business articles for a variety

of American corporations. [2] Tan, finaliy realized that
6
_ her discontent stemmed not from the writing itself, but

with the subject matter—she didn’t care about business.
7

(31

[1] At first, Tan originally tried to write her
8

stories from a non—Chinese perspective,

assuming that work from a Chinese-American

.'point of view would never be published. [2] B'uf
trying to write from .a non-Chinese viewpoint proved

9
. unfulfilling. [8] Tan came to see that, for her, writing

- was a kind of exploration, a pvay to examine her life. v
M
Tan also realized that, whether her wdrk was
published or not, one could only learn about oneself by |

10
writing in her own, Chinese-American, voice. That distinc-

, tive voice is part of what made her first novel, The Joy
Lf,tck Club, a best-seller.
(5] |
In The Joy Luck Clab, as in much of her
writing, Tan explores the relationships between
mothers and daughters. Her interest in this theme

" grew directly from her once difficult relationship

ACT-55C-SAMPLE

10.

. Which of the following sentences (assummg all are

true), if added here, would best introduce the new sub-
jectof Paragraph 27

A

,POF

“EQ® PoFr -Eem

POF?

~mqom

Tan began to understand her life by wrltmg about
it.

‘Tan dropped out of medical school to study

Enghsh ‘ .
Writing wasn’t always'a rewardmg experience for
Tan.

Finding the right career is difficult for many
people. .

NO CHANGE ' | .
Tan finally realized, that
Tan finally realized that,
Tan finally realized that

NO CHANGE

for
from
in

NO CHANGE

Tan originally

First, Tan originally

In the beginning, Tan first

NO CHANGE

written from a non-Chinese viewpoint it was
writing from a non-Chinese viewpoint she was

it was from this non- Chlnese viewpoint Wthh
proved

NO CHANGE _
one could only learn about herself
she could only learn about herself
oneself could only be known

GO ON TO THE NEXT PAGE.



with her mother and Tan describes her teen-aged self
11 ! :
as “every mother’s nightmare.” Writing about those years

was given Tan a way of understanding he_r past—and of
. 12
coming closer to her mother.

[6]
Tan, who once felt she could never live up'to
her mother’s, expectations now feels that her

13
professional success has filled her mother with

pride. On the other hand, Tan saiyé that if she were
14
asked what the most important thing she has done in her

life was, she Would answer, “I made my mother happy.”

ACT-55C-SAMPLE

12

-
w

Q
~
“Zem Powp

NO CHANGE
mother: Tan :
mother, and she also
mother, Tan

NO CHANGE
has gave

had gave
gave .

~EQE PoFp

NO CHANGE
- mother’s expectations
mothers’ expectations, -
“mother’s expectations,

NO CHANGE
However,

In fact, -
Despite this, .

Question 15 asks about the preceding passage
as a whole. o

15. In reviewing notes, the writer discovers that the fol-

lowing information has been left out of the essay:

She decided what she really wanted to do was
write fiction. ’

If added to the essay, the sentence would most logi-
cally be placed after Sentence:

A. 1in Paragraph 2.
B. 2 in Paragraph 2.
C. 2in Paragraph 3.
D. 3 in Paragraph 3.

GO ON TO THE NEXT PAGE.



PASSAGE Hl

* The following paragraphs may or may not
~be in the most logical order. Each paragraph
is numbered in brackets, and question 30 will
. ask you to -choose the best’ placement of
Paragraph 6.

Home Improvement, or Not? .
[1]
Have you ever seen those home-improvement
~shows on television? Beware, for they don’t tell the
vyhole story These shows portray remodeling projects
under 1deal conditions, not the COl‘ldl’[lOHS most of us

. must contend with. I recently added a second bathroom -
I8 16

© . tomy house domg all the work myself Over an entire

summer, I learned a lot about plumbrng, electrical
- wiring, and carpentry. I also learned about the four
stages of remodehng Enthusrasm, Déespair, Adaptation, .

"and Satisfaction.

[2]

"The first stage is marked by eagerness;‘One : e

mornrng you tear into a wall, feeling a trickle of .
. 17
, enthusmsm as plaster crumbles beneath your wrecking bar

That enthusiasm sustains you for days as you take out the
old to build the new. |
| 31
But the Wall your intent to cut an arch

) 18
. through turns out to be brick not wood Llfting the

floorboards, you fmd a twisted mess of rusted pipe and
rotting Wire About then'the building inspector stops
by, to ensure proper dramage she says you ll have to -

. 19
landscape the lawn

ACT-55C-SAMPLE -

17.

18.

19.

~mam:

NO CHANGE - :

bathroom, adding - N
_ bathroom in addition : S
bathroom not long ago

‘Which of the ch01ces would be most appropriate here" :

rmﬁe TowE

Siel '

NO CHANGE
a surge

" atwinge

an ounce

NO CHANGE

- your intending to cut ‘ /o '
“your intent on cutting

you intended to cut

- NO CHANGE
-by; to :

by, to,

by to

GO ON TO THE NEXT PAGE.



[4]

Despalr however soon gives up on

. 20
adaptat1on Work on the prOJect grows sporadic. You

‘ pound a few nails, maybe patch over that hole‘in the

" toof. You try to convince yourself things aren’t 50 bad.
Ankle-deep in .sawdust, ;hu wonder: Do I reallylneed ‘
hot water? | |
| I )
. Eventuall"y,’you recall that you once had an
- enj oyable life apart from power tools and plumbmg

You tackle the project once more, with enthusiasm—

~ but by a moderation of enthusiasm with ‘experience.
. %) :

Before too long in the future, you’re the proud owner
} ' ) 23 ‘
of a second bathroom.

o

.~ You sink into.desl\)air, the house you
thought you owned has tzl:rned on its master. Worse Yet,
there’s‘no goin.g back; the'old hot 'watervpipes have
been fipped out, and a jagged,"four—foot hole in the roof

has ‘turned into an unplanned and precarious sskylight.
25 ’

. [7]
Take a long Took at your shiny new

* bathroom, settle into an easy chair, and enjoy a
o 27 ’ L
well-deserved rest. You might want to watch a little televi-

sion. If so, keep the remote control handy. When one of

ACT-55C-SAMPLE .

21

- 22.
23.

24.

25.

26,

27.

19;@5

Jows

vowe em@ﬁ

SmQm

’p9¢?0~

'NOCHANGE

away .
out.of
wayto . -

A

* NO CHANGE

convince, yourself

. convince yourself, .

convince yourself;

v NO CHAN GE

experience has moderated with enthus1asm

-with the experience of moderatmg enthusiasm.
- with enthusiasm moderated by experience.

NO CHANGE

you know it, you’re soon
too long, you’re shortly
too long, you're -

NO CHANGE
despair. The
despair the

~despair and the

'NO CHANGE
. was turning |
turned

would have turned v

Which of the following sentences offers the best intro-

Tawr = mam

- duction to Paragraph 77 _
‘One bathroom had been quite enough‘-’

Television might help you to relax. .
Satisfaction is something to think about when
remodeling. - ,

When satlsfactlon arrives, savor 1t

NO CHANGE
settling into an easy chair and en}oylng

.. you settle into an easy chair and enjoy

settling into an easy chair, you enjoy

~ GO ON TO THE NEXT PAGE.



NO CHANGE

those home-improvement shows come on, you’lk want to. 28. F.

F
y 28 : : - G. comes ‘ .
change channels quickly. t . , H. are coming ' ST
; o J '

have come

| Questions 29 and 30 ask about the preceding passage as a whole.

29. What functlon does Paragraph 7 serve in relation to the 30. For the sake of the unrty and coherence of the essay,
rest of the essay? , - Paragraph 6 should be placed :
A. It refers back to the openlng sentences of the “F. where itis now.
- essay, suggesting that those home- 1mprovement G. after Paragraph 2. -
. shows are not wholly accurate. ~H. after Paragraph'3. =
~ B. It indicates that the narrator has yet to learn: the 7 J. after Paragraph 4. . -
necessary lessons about doing home- 1mprovement, e B
projects.
. C. Itindicates that the narrator’s satisfaction w1th the
' remodeling project is so great that there are
thoughts of another prOJect
© D. It summarizes the essay’s main pomt that- those
home-improvement shows really can be quite
informative and helpful.
PASSAGE Il
No Satisfaction
Many people believe ' :  31. Which choice would rnos_t precisely sharpen the focus -
E ' : : of this paragraph, in keeping with the way the writer
- develops the argument in the rest of the essay‘7 .
A. NO CHANGE
B. listeners
- C. parents '
D. OMIT the underhned portron '
that today’s rock music lyrics are immoral Even , 32. F_; NO CHANGE
E) G. thattodays .
parents who grew up listening to early rock tunes often H. - in which:todays .
, ~ J. - todays
" need to wear earplugs ‘when recent songs are played ~ 33. Which choice best specifies the basis of some parents ‘
33 , . claims that rock lyrrcs are: morally objectronableV
Some parents have been moved by worries about the NO CHANGE ,
admit their old favorites were pretty tame by com- -
parison.

-notice the differences in recent songs. -
find recent songs sexist, racist, or violent.

'NO CHANGE
be motivated toward seekmg
have sought

lyrics’ influence on their children to be motivated to seek ) 34.
‘ . ‘ 34 R

saEr SEeT o ity

seek
ways of restricting access of songs they deplore. However, 35. NO CHANGE
: ' 38 ‘ ' access by.
_our nation’s devotion to freedom of speech creates a access to

‘excess of . ' ,

asscamm 7 . GOONTO THE NEXT PAGE.



dilemrna for them: censorship, even in the,name of
~ protecting 1mpre551onable youth is still censorshlp. ‘

Music has been pract1ced in many natlons ‘
36

N : and historical eras. One possible solutlon to the

~ 36

censorship dilemma is, to rate albums as we do
: 37 - o )

'

a movies. Ratings for par_ent's arough guide to-the
38 ‘ R

\

nature of a recording’s contents. Recordmg compames
39
: generally are willing to rate their albums. Public officials

seem satisfied with ratings as a compromise that mutes
controversy. And recording artists remain free to sing
whatever they want. |

' Unfortunately, to adopt a movie- style ratlng

systern is to rgnore crucial d1fferences between music

and movies. For one thing, when teenagers go'to a theater,

we rnust buy tickets’ from a person presumably.
40 . .

\

_responsible enough to deny them admission l)y exclusion
. a
" if they’re underage. Unless we’re willing to deputize’

every ‘sales clerk in every music store, or music ratings

‘won’t be enforced. Moreover, rock music, more than
& :

film, expresses youthful rebellion. Label an album as
— v ] -
one whose contents won’t delight Mom or Dad, and-

there are millions of teens who will acquire it precisely ‘

ACT-55C-SAMPLE .

36.

F.
G.
H.
B
A.
B.
C.
D.
F.
G.
- H.
.
A.
B.
. c
- D.

37.
38,

-39.

40.
41
42.
43.

44,

a® - gaEy SEam TaFEr» SEpas

G.

H.

J.

' NO CHANGE -
_'Some form of music has-been i in use 1n many times
" and places throughout history. .

They have practiced music in’ many countrres and
historical periods. = . . -
OMIT the underhned port1on

'NOCHANGE"

dilemma, is to rate albums:
dilemma is to rate albums -

: d1lemma is, to rate albums

NO CHANGE
prov1d1ng parents with:

_give parents © ol
‘to: g1ve parents =

NO CHANGE 4 ' '
the contents of a recordlng that could have been

“put on tape, compact disc, or record. -

a recording’s; on record, compact drsc o1 tape,
contents.

the récording’s contents whether it or they are on-
compact disc, record, or tape.

NO CHANGE

he or she has to

they have to L

he or she have to S

' NO CHANGE

and not let them in
to get in
OMIT the underlined portion. =

NO CHANGE
store;

store so

store, then

NO CHANGE

‘Therefore,

Despite this, .
The implication being,

NO CHANGE

film; ’

film, which : "
film - C

GO ON TO THE NEXT PAGE.



for that reason.

Not surprisingly, there is no satisfactory '

; method for governlng rock *n’ roll. Parents can best exert "

o respons1b111ty for thelr chlldren S lrstenrng habrts by "
' cornmumcatmg the1r concerns to their children. By

’ ,'shanng their insights and values parents and teens can

:dlSCOVCI‘ pre01sely why certain kinds of lyrlcs provoke \

dlsagreement. The process of debate will i in.itself. do .

~ more to promote both moral growth arid mutual

.. . understanding, than any arbitrary system of restraints on

. 45 .
- what rock fans hear.

STl T

NO CHANGE
understanding, than,: "
understanding than -
understanding;.than -

'PASSAGE IV
' A “Creative Education
N. C. Wyeth, gifted artist and 111ustrator was

46
" in the early twentleth century He is celebrated

for his vivid and haunting irnages by art historians,

: . 47
many of which continue to be published in children’s

\

* books for the yonng today. Yet those who knew him
. 48- . '

’believe that‘ ‘. Because he worked at hpme, Wyeth -
was able to devote much of his time and energy to their
- care and instruction. .
Rather than send his chﬂdren to school,
where Wyeth belleved they would be prnned to.
stumps, one resembhng the other,” during the day‘he

often-tutored them at home. The children regularly -

ACT-56C-SAMPLE

46.

47.

48..

49.

T oy HFP?“

T

NO CHANGE ‘
Wyeth was a gifted artist and 1llustrator
‘Wyeth was a gifted artist, and illustrator
‘Wyeth, a gifted artist and illustrator, '

NO CHANGE

by art historians for his vivid and hauntmg images,
for his vivid and hauntmg 1mages by art hlsto-
rians,

by art historians who consider hlS images v1v1d '
and haunfing, =~ .

. NO CHANGE
for young people
for young readers
‘OMIT the underhned portlon

[

The wr1ter would like to link the mformatlon already

presented  about N. C, Wyeth to the topic discussed in
the rest of the essay. Assuming -all are true, which of
the following completlons of-this sentence best
achieves this effect? » ‘

A. he raised his five chlldren in an unusual and suc-
cessful way

B. he was ahead of his time in his role as the primary
caregiver of his five children

C. his greatest artistic.feat was in the raising of his.
five children

D

. he spent more time’ with h1s flve children than -

most men-did in those days

~ GO ON TO THE NEXT PAGE.



engaged in activ1t1es stimulatmg their cur1031ty
50
’ and creat1v1ty, Wthh were desrgned by Wyeth. He wanted
50
" his children to value time and-to spend it productively

Even mealtimes were educatlonal, devoted ‘to discussmns
of current évents and the'vw'orks of famous Writers and
artists.. |
The children’s activities continued into the
eve‘nings, too. Each night, Wyeth would tell stories of“ .
o elves and other magical creatures or would read from"
’ vtvhe classics The children’s favorite stories' ‘.,‘ 7

. that they heard were those that he told while
51 .

. , L , |

standing at his easel sketching the giants monsters and
.52

other fantastic creatures that inhabited his lively-tales.

The children were required to do

,more than sit and listen quietly through
- 53
. their “lessons They were expected to keep

scrupulously written journals containing sketches
. ; 54 '

. and notes; and personal diarles they also kept. Wyeth

beheved thelr richly textured childhood, both d1sc1plined ‘

and fanciful, would lay the foundation for productiye' k
" 56

. adult years.

., Child-rearing provides many subtle rewards.
o 57 - )
Wyeth raised a virtual dynasty of talent and .

achievement. Three of the children became successful

ACT-55C-SAMPLE L

"~ 56.

10

51.

52.

53.

'54.

55.

57.

.e;e-@e

-z am gaEpr

*e':@e;Pow?

e#@ﬁ‘?@??

Jjournals,

NO CHANGE ‘
that would stlmulate their curios1ty as des1gned by
~Wyeth. -
Ades1gned by Wyeth -they ‘were to stimulate the1r
curiosity. :
" that were des1gned by Wyeth to stimulate thelr
cunosxty

‘NO CHANGE

that he told
he told
OMIT the underlined port1on.‘

NO CHANGE

standing at his easel, sketching the giants mon-

- sters,

standing, af his easel sketching the giants, mon-

_sters

standing at his easel; sketchlng the glants mon-
sters, . , :

- NO CHANGE

more, than sit and listen quietly,
more than sit and listen quietly,

‘more than sit, and listen quietly

NO CHANGE

written journals scrupulously containing

which were scrupulously containing
written

scrupulously written Journals which were con-
taining . .

‘NO CHANGE

also keeping personal diaries.
they also kept personal diaries..

as'well as personal diaries.

‘NO CHANGE

were laying -
had lain
OMIT the underlined portion

Which of the ch01ces provrdes the most effective intro-
ductory sentence for the essay’s concludmg para-

graph"

A. NO.CHANGE ‘

B. Raising children is l1fe s greatest challenge
C. His approach seems to have worked.

D. Wyeth s drawings will not be forgotten

' GO ON TO THE NEXT PAGE.



‘ artists, another a composer, and one who was a scientist-

%
and 1nventor All of them trace their accomphshments

,to their remarkable childhood under the watchful eye of

- their father’s dedication and determlnatlon.
' 59 ’ '

F. NO CHANGE

G. the other

H. one becoming .
J. another being L

. A. NOCHANGE

B. the dedication and determmatlon of- their father
C. their dedicated and determined father.

D. the dedicat__ed determin_ation of their father. )

Questlon 60 asks about the precedmg passage
asawhole e

60

Suppose the writer had been’ ass1gned to write a brief
- essay illustrating the influence of N. C. Wyeth’s art-

" work on the subsequent artwork of his children; ‘Would
this essay successfully fulflll the asmgnment"

F. Yes, because the essay. indicates that three. of his'
‘ children became successful artists. -
Yes, because the essay indicates that Wyeth used
his artwork to help foster creativity in his children.

-_Wyeth’s creative child- -rearing methods.

G.
H. No, because ‘the essay restricts its focus to
J

. No, because the essay doés not suggest the types
~ofi images Wyeth created. ,

PASSAG’E v.
: In Katmandu ~
The narrow cobbled streets and wide paved )
avenues ‘of Katmandu, Nepal, buzzes with the interplay

: . 61
, of old and new Ways In the months I spent in that

central Asian capital, I was 1ntr1gued by the culture,

-, having allowed local traditions'and modern

62
1mportat10ns to flourish side by s1de o

The ancient tiered pagodas in the central
'square draw both worshipers and tourists.

‘Merchants sell not only traditional crafts but

' also high-tech European flashlights from the
' A 63
temple steps. Japanese cars swerve around -

ACT-55C-SAMPLE

61.

62.

63.

11

%?@e

NO CHANGE
“buzz

is buzzing

was buzzing

sl

NO CHANGE
allowing

which has allowed
that it has allowed

Given that all are true, which of the choices would best .
help complete an example of the “interplay” described
_in the opening paragraph? : . ‘
NO CHANGE

religious articles of faith-

painted scenes of Katmandu

ancient artifacts found nearby

Sielte

GO ON TO THE NEXT PAGE.



“donkeys, goats, and bicycles.

[1] One afternoon, after the nourishment of some
’ o 65

Texas—style barb‘ecued chickenb and apple p‘ie‘,‘I wandered -

out into the streets [2] Garlanded with gold masked w1th .

dramat1c makeup, and barred from Walkrng outs1de she

looked down at her changmg city and my froma
66
- second- floor WlndOW [3] Suddenly aware of berng

observed, I looked up into the face of a goddess—the B

Living Goddess, a child revered as divine. ‘

~ Finally, I saw an old-fashioned
- 68 ‘
.honey-gatherer selling wild honey

he had- brought down from the mountalns

Honey is a treat enjoyed in most parts of the world
69
- Frém two great pots, Wthh were tied to a pole he

carried across his shoulders, the man poured honey into

jars. Barefoot, and singing to advertise his hon‘ey,

" he toured the city, filling even foreigners’ jars with the -

golden liquid. ;
' All over the c1ty, I saw old Nepalese ways
coexisting with modern Western ones. In a Tibetan -

- neighborhood, Buddhist monks in their yellow robes

ACT-55C-SAMPLE

65.

69.

12

66.

68.

64. The writer wishes. to include another example of tradi-

_ tional Nepalese culture coexisting with. modern foreign -

" influence. Which of the following true sentences, if
insérted here, would best fulfill that goal” ‘

F. In the fall, “when Nepal s skies are clear and its
" weather cnsp, hikers climb its.famous mountains.
Nepal proudly clalms to be the last Hlndu klngdom '
.in the-world. :
. At Katmandu’s Swayambu Temple half-tame
“.monkeys beg visitors for sweets. N

Vendors sell fiery Nepalese pastnes along with
: .‘Amerlcan soda pop.-

9‘:“@

NO CHANGE

lunching on’

nourishing myself by way of .
taking nourishment in.the' form of

?oee

NO CHANGE :
my changing city and her = -
me and her changing city -

inine and hers.changing city

~Eom

67. Wthh of the followmg sequences of sentences makes

this paragraph most logical?

.VNOCHANGE
1,3,2
2,1,3

.3, 1',21

NO CHANGE « .
However, = O ’ \

- To illustrate, B

‘Later that day,

“Za® Sowp

NO CHANGE :
Honey varies in taste and color dependmg on sev-
eral factors, including the bees’ foraging area.
Did you know honey was even used in the mum-
, mification process back in ancient Egypt?

D. OMIT the underlined portion.

¢ = B

70. The -writer wishes to add a detail tothe preceding sen-

‘tence that will empha51ze the meeting of traditional
and modern cultures. Given that all are true, which of
the following replacements for ]ars would most
drrectly accomphsh this? ‘

jars his customers had that w were empty

his customers’ empty imported peanut butter jars.
his customers’ jars, whlch quickly filled w1th the
sweet stuff.

contalners that were supphed by his customers

= mo=

" GO ON TO THE NEXT PAGE. _



played soccer with boys from a nearby neighborhood.
’ 7

In the same district in which dentists treat therr
72
patlents using the Jatest methods toothache sufferers

may try relieving the pain by driving a nail into a
‘huge hunk of wood hung for that purpose in the

public square. On Katmandus busiest commercial
‘ : 73 ‘

‘avenue, it was under billboard advertisements for
. 74
toothpaste and movies, and a sidewalk artist chalked
74

heroes from the country’s oldest myths. Katmandu has 4

been influenced by change from outside, but its
75
Nepalese culture thrives.

73,

71.

72.

74.

75.

Which of the descriptions of the boys at play with
monks who were dressed in traditional garb best

. emphasizes the central idea of the paragraph and the

essay?

NO CHANGE - :
and joked with boys in the old courtyard
with boys wearing Superman T- shirts,

with boys wearmg tradltronal Nepalese caps

NO CHANGE

district, therefore,

district, for example,
district, on the other hand,

sEaE paFE@

NO CHANGE
Katmandus’
Katmandu’s
Katmandu’s most

NO CHANGE

avenue, under billboard ads for toothpaste and
movies, a

avenue and it was under billboard ads for tooth—
paste and movies, a

avenue that was under billboard ads for toothpaste
and movies. A

=B QF ParEr

NO CHANGE
it’s '
their

its’

ek

END OF TEST 1

STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.
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DIRECTIONS: Solve each problem, choose the correct
answer, and then fill in the corresponding oval on your
answer document.

Do not linger over problems that take too much time.
Solve as many as you can; then return to the others in
the time you have left for this test.

You are permitted to use a calculator on thls test You
_may use your calculator for any problems you choose,

but some of the problems may best be done without
using a calculator. :

Note: Unless otherwise stated, all of the follbWing should |
be assumed.. '

1. lllustrative flgures are NOT necessanly drawn to scale.
2. Geometric figures lie in a plane.

3. The word /ine indicates a straight line.

4. The word average indicates arithmetic mean.

1. On a real number line, point S has coordinate -5 and
point T has coordinate —7. What is the coordmate of
the midpoint of ST ?

A. -6
B. -1
C. 1
D. 2
E. 6

2. Given right triangle AABC below, how many units
long is BC ?

FeEQ

ACT-55C-SAMPLE

14

DO YOUR FIGURING HERE.

GO ON TO THE NEXT PAGE.



P JNUNUNYNYUNUNYNYNN.

3. A Fahrenheit temperature F can be approximated by - DO YOUR FlGU_RlNG HERE.
doubling the Celsius temperature C and adding 32. ~ : , o -
Which of the following expresses this approximation
method? :

(Note: The symbol = means “is approximately equa]
to.”)

A. F=~1C+32
B. lez(C+32)
C. F=2C+32
D. F=2(C+32)
E. F=C'+32

4. Malcolm has 3 striped ties and 4 solid-colored ties
’ hanging together in his closet. In his haste to get to his
appointment, he randomly grabs 1 of these 7 ties. What
is the probability the tie that Malcolm grabs is striped?

G. 3 )
iy
3 2
K. %

5. The daily totals of lunch customers served at the
Sunshine Cafe last Monday through Saturday were
256, 189, 204, 179, 166, and 218. What was the
“average number of lunch customers served each day?

A. 1,212
B. 256
C. 202
D. 197"
E. 173

6. In the figure showing AABC beloW, line m is parallel
to line n. Which one of the following angles must be
congruent to ZLx ?

REOE
N
[F%)

acrssosapLE | 45 GO ONTO THE NEXT PAGE.
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| 7. A package of 10 ballpoint pens is priced at $1.50 now. " DO YOUR FIGURING HERE.
If the pens go on sale for 20% off the ‘current price, ‘ - o e
what will be the sale price of the package”

A. $0.30

B. $0.75

C. $1.00

D. $1.20 :

E. $1.30 ' : "

8. When a triangle-is isosceles, its parts are given special
names, which are shown below for AABC where
AB = CB. If 2 isosceles triangles are similar, which of
the following must be equal?

B
«— vertex

vertex angle

4 base angles )
A base C

Their areas

Their perimeters

Their heights (measured from vertex to base)
The measures of all 4 legs

The measures of their vertex angles

R

9. Sherry won a cash settlement for a suit she had filed
in court. Sherry paid her lawyer 25% of the original
settlement and had $12,000 remaining. How much was
the original settlement? '

$16,000
$21,000
$28,000
$37,000
$48,000

SIoT T

10. Carlotta had 2 more CDs (compact discs) than Mario.
Then she bought 3 CDs from Mario. Now how many’
more CDs does Carlotta have than Mario?

F. 4
G. 2
H. 6
J. 8
K. 12

' ACT-55C-SAMPLE - 16 " GO ON TO THE NEXT PAGE.
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11. What is the value of |3 — x| if x=6 7

A. -3
B. 3
C. 6
D. 9
E. 18

12. Forallxand y, (2x—y)(x*+y) =?
F. 24—y
G. 2 -y
H 2 +xy-y""
J. 2+ 2xy -2
K. 2x° ~x%y + 2xy -y’

13. Forallx, 5-3(x—4)="?

=3x+ 17
—3x- 17
3x+ 1
2x— 4
2x— 8

S-iel 'S

14. (x*)"? is equivalent to: -

F x60

G.

H. 12x
J

K

15. What is the 311th digit after the demmal point in the
- repeating decimal 0.51246 ?

ci-Telok
[} S W NF Fe N

16. The area of a square is 36 square inches. What is its
perimeter, in inches? .

F. 6 ‘
G. 9 _ :
H 12 _

J. 18

K. 24

ACT-55C-SAMPLE S 17
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17 What is the sum of the 2 solutions of the equation : DO YOUR FIGURING HERE.
¥ +2x-15=07 :
A, -15
B. -5
C. =2
D. 0 s
E. 3 ‘

18. Which of the following expressions is NOT a
polynomial factor of x* — 4 ?

-2 ,

X+2

x-V2

x+V2

x—2

AREEmQ=

‘19, When x = L, what is the value of 4xx 39

) 5
A. 20
B. -2
. 1
R
D. 1
: 1
E. 3

20. How many minutes would it take a train to travel
90 kilometers at a constant speed of 120 kilometers per
hour? ’

F. 30
G. 40
H. 45
J. 80
K. 90

JE— T GO ON TO THE NEXT PAGE.



21‘."‘ The area of a trapezoid may be found by using the ‘DO YOUR FIGURING HERE.
formula A = Lh(b, + b,), where h is the height and - ’ Lo

b, and b, are the lengths of the parallel bases. What is
the area, in square inches, of the isosceles trapezoid

below?
6 inches

12 inches

15
20
27
36
45

Sl S

22. For a certain quadratic equation, ax” + bx + ¢ = 0,

the 2 solutions are x = % and x = —%. Which of the

' following could be factors of ax* + bx + ¢ ?

(5x-3)and 2x+ 1)
(5x— 1) and (2x + 3)
(5x + 1) and (2x - 3)
(5x+3)and 2x- 1)
(5x+3)and 2x+ 1)

ReE O

23. All sides of a rhombus are the same length, as illus-
trated below.

If one diagonal is 10 inches long and the other is
24 inches long, how many inches long is a side of the
rhombus?

V17
V34
113
17
26

mEOwE
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24. A rectangular room that is 2 feet longer than it is wide N DO YOUR FIGURING HERE
has an area of 120 square feet. How many feet long is
the room?

10
12
22
29
31

ReEes

25. In the standard (x,y) coordinate plane, what is the slope.
" of the line joining the points (2,~7) and (5,4) ?

1
A.§
3
B.
C. 1
11
D. 3
E. 9

26. What is the center of the circle with equation
(x - 2)* + (¥ + 2)* = 2 in the standard (x,y) coordinate

plane?

F. (-V2,V2)

G. (-2,2)

H. (V2-V?2)

J. 2-2) -
K. (2,2) '

27. The domain of a function f is the set of all values of x
for which f(x) is defined. One of the following sets is
the domain for the function graphed below. Which set
is that domain?

YA

{-2,-1,0,1,2,3,4}
{-1,0,1, 2}
2<x<4})

{x: -1<x<2}
{x:-1<x<4}

sl S S
=

ACT-55C-SAMPLE - S ~ : » 20 | v ' GO dN TO THE NEXT PAGE.
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28 In the standard (x,y) coordmate plane what is the = DO YOUR F|GUR|NG HERE

midpoint of the line segment that has endpomts (- 1 »3)
.and (2, 7) ? :

o (13
K. (34) -

29, As'a salesperson, OnaWa travels to a var1ety of loca-

‘ tions during a day. The graph shows the relationship
between time and total distance traveled on a particular
day. What was Onawa’s average speed, in miles per

~ hour, for the parts of the day when she was traveling
from one place to another?

A
330+
8.8 2204
B E - )
— = A
. g 110 4
: T T 1 | T )
2463810
working
hours -
A. 19
-B. 33
C. 45
D. 55
E.

110

' 30..If 35 = X for all x £0, which of the following must be
x% » 4

true?

F. a-b=3 .
G. a+b=3

H a+b=3 1

J. axb =

K. Vab =

ACT-55C-SAMPLE ‘ ‘ - o . 21 ' GO ON TO THE NEXT PAGE
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31. In ‘the standard (x,y) coordinate plane, what is the slope A DO YOUR FlGURlNG HERE
of the line given by the equatlon S5x-4y=37 - : - e » . N
B. -7
. 4
N 0N z
: : 5
D. y

- 32.. Which of the followmg is ‘the least common denoml- .
nator for the expression below?
. 1 4 71 " 1 .
13°-17-23 17°-23 17-23

17 - 23 o : o
13+17-23 e SR
13%+17-23 o S .
13%-17%- 23 -

13%+ 174+ 23°

RemQm

v o

?j‘
K=

Gersosses a2 GO ON TO THE NEXT PAGE.
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~34. One route along : flat terram from Red Deer =~ - DO YOUR FIGURlNG HERE
to Vegreville is to drive north .from Red Deer - :
“to Edmonton about 150 kilometers, then, at Edmonton,
to drive east for about 100 kilometers to- Vegreville. o _
If a straight, flat'road existed between Red Deer and L . S
Vegreville, about how many kilometers long would ) o o
itbe?"

Edmgntbn 100 km .Vegrfville

© 150km| _TN

Red Deer
. 250 | . | Tl L
,50

V15,000
V32,500

R — B D
Ft
w .
= I

35. The éllip.s_e shown .below intersects any different
ellipse in, at most,show many points?

A. 1
B. 2
'C. 3
D. 4
E

Infinitely many

'36. The Environmental Club selects. its 3 officers by first .
selecting the president, then the vice president, and i
finally the secretary. If there are 20 members who are .
eligible to hold office and no.member can hold more
than 1 office, which of the following gives;the number

~of different possible results of the election?

17

'WFEPw
o
<

sorscswme a3 - . GOONTOTHE NEXT PAGE.
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: " 37. The points A(1,1)-and B(S 2) in the standard (x,y) coor- S 'DO YOUR FIGURING HERE

.. dinate plane below are 2 vertices of AABC, which has - S )
a right angle at B. Which of the following pomts could ' : . g : Lo
be the thlrd vertex, C 7

=]
—
QS
N W
~——

C
D. (4-2)

E. (4.6)

38. What value of n will satlsfy the equatlon
01(n+1350)—n‘7 :

F. 1,500 - L
G. 1485 : _ ,
H. 1215 :
J. 150
K. 135

39. If0°<x°<90° and281n2x° ' 1—0 thenx° =7
0°-

. 300 .

45°

. 60°

90°

FUO??

.40. A circular fountain with a diameter of 20 meters is to

: be placed entirely within a rectangular plaza,
‘40 by 60 meters. Bricks will be laid on the entire plaza
around the fountain (but not under it), making it acces-

. sible to pedestrians. What is the approximate area, in
square meters, of the plaza that will be brick?

314
1,256
- 2,086
2,400 :
Cannot be determined without knowmg the exact
placement of the fountain

AEEQE
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41 In the standard (x,y) coordinate plane Whlch of the fol- - E DO YOUR FlGURlNG HERE
lowing lines goes through (0 2) and is parallel to

y=3x+17, ‘ ‘ , IR : o

B. y= 2x+3 o P  : '
C. y= 3x-6 ‘ R

D. y= 3x-2

E. y= '3xv+2

~42. In the figure below, cos = ?

2.2)

, 0 jG > X
a g

N2
‘G.‘ 3

\/§.
B
J.o1-

2

43. Which of the. followmg operatlons w1ll produce the’
largest result ‘when substituted for the blank in.the
‘expression: 2 —% ? : C R

A. averaged with
B. divided by ..
C. minus
D. plus
- E. multiplied by

3

44, The valn_e of x that will make % +1= 72 true state- -
‘ment lies between which of the following numbers? '
F. 3and-1 -
G. -land 0O
H. Oand 1~
J. Tand 3 ]
K K

3and 5

wrssosmee o s GO ON TO THE NEXT PAGE.
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45 What is the solutlon set of ]2z—- 1| >59
{z: 223},

{z:z<-2o0rz=3}
{z:z<-3orz2>3)}
{z2z2<—dorz>6)

{ } (the empty set)

a?cw?

' 46. Whenever % is defined, it is equivalent to: ;

. F. cos® '
6. w5
IH’ sillle
J'\ sirize
‘ K cos79

47. If b # ¢, what are the real values of a that make the - ‘

following inequality true?

ab—ac _
2w-2c <0
A. . 2only ‘
B. 1 oﬁly
B g onYy
p 1 1y
C. —5 OHIy
D. All positive real numbers
E. All negative real numbers

AGT-55C-SAMPLE
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.48. The, volume, V, of the right circular cylinder below is

- ‘given by the formula V =1k, where r is the radius of

the base, and  is the height of the cylinder. |

If ris doubled‘ and % .is halved, the new cyiinder’s ‘
volume, V, will be: ' : A

F. L the original volﬁmg.

N

NN

the original volume.

H. the original volume.

J. 2 times the original volume. -

K. 4 times the original volume.

49, Phuong rode his bike, mostly uphill, to visit Brad. The
trip to Brad’s house took ¢ minutes. Returning home,
mostly downhill, Phuong was able to travel at an
.average speed twice that of his trip to Brad’s. Which of
the following-is an expression for the total number of
minutes Phuong bicycled on the entire trip?

A 5 |
B 3 R | '
C', t+%\,,

D. 2t

- E. 5t

ACT-55C-SAMPLE
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50 A wheel 29 inches in diameter. rolls along a line ; DO YOUR FlGURING HERE

without slipping. How many inches does the wheel roll L
along its path in 25 revolutlons? - ’ P

F. 3625
G. 725

H. 1,450

J. 21025m
K. 725

51. In‘the figure below, a square is inscribed in a.circle -
of radius r. What is the perpendicular distance from
- the center of the 01rcle to-a side of the square 1n terms

of r? _
A5

B ’Zi |

C . r‘ ‘ - ‘, o

E. Cannot be det_errpined from tho given informatfon ‘

52, The opération_ A is.defined by the following:
aAb=3+a+b-axb

For example, 4 A 6 =3 + 4 + 6 — 4 x 6 =—11. If
"a Ab=b A a, then which of the followmg describes all
the possible values of a andb? -

F. They are both negatlve.

G. They are both positive.

H. They have opposite signs.
J. They are equal. :

K. They can have any values. :

- acrsscomie e 28 GOONTO THE NEXT PAGE.
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53. To make a piece of jewelry, Aaron cuts out a circular .DO YOUR FIGURING HERE.
piece of metal from a larger circular piece, as shown e g
below. The radius of the larger circle is 2 inches. If the ' : ' :
area of the cutout is to be the same as the area of the
piece that remains, what should be the radius, in
inches, of the inner circle? ‘

1
T
V2
2V2
2

mEQrP

54, A movie projector emits light as shown in the top-view
“diagram below. To make the light projection cover the
full width of a 12-foot screen without extending
beyond the screen, the projector must be placed a cer-
tain distance from the screen. Assuming the screen is » ‘
positioned directly in front of the projector as shown, . -
which of the following expressions could be used to :
calculate the distance, in feet, from the projector to the

screen?
| —12’ —
- <«— screen
?
projector
6
F. tan 15°
6
»G' tan30°
H. 6tanl5°®
J. 6tan30°

K. 12tanl5°

ACT-55C-SAMPLE -~ ’ o : . 29 | GO ON TO THE NEXT PAGE.
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55. One hot-air balloon is 10 kilometers (km) east and DO YOUR FIGURING HERE.
-3 km north of an airport tower while a second hot-air ' s ’ : -
balloon at the same altitude is 2 km west and 5 km
south of the same airport tower. Approximately how
many kilometers separate the 2 hot-air balloons? '

8.2
12
14.4
15.8
20

EEaEP

56. The quantity V2 is defined when n is an integer
greater than 2 and p is any nonzero real number.. .
Which of the following is a relationship between n and : ' . o VAR
p that will always make V2 a positive integer ?

F. -‘Z is a positive integer
G. —;— is a positive integer
H. p is greater than n
J. nis greater than p

K. Thesumof pandnisl

57. For real numbers a and b such that 0 < ab < a < b,
which of the following graphs represents the set of all
possible values for ab ?

A. & - t
-2 -1 0 1 2
B. t ¢ >
-2 -1 0 .1 2
C. = S
2 -1 0 1 2
D. = < } }
=2 -1 0 1 2
E. < h }
-2 -1 0 1 2 ’

crasens - - s GO ON TO THE NEXT PAGE.
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.58. The Recreation Department wants to build a circular _ DO YOUR FIGURlNG HERE
wadmg pool in the city park. The area available for the :
pool is a fenced-in rectangular region 12 meters by
18 meters. If the Recreation Department wants the
wading pool to be as large as possible, and the edge of
the pool must be at least 2 meters from the fence all
-around, how many meters long should the radius of the

pool be?
F. 4
G. 5
H 7
J. 10
K. 14

59. Three distinct lines, all contained in a plane, separate
the plane into distinct regions. What are all of the pos- -
sible numbers of distinct regions of the plane that may
be separated by any 3 such lines?

‘(Note: Do NOT include any of the pomts on the 3 lines
‘in your count of distinct reglons )

3,4,7

s

“

-

s

>

HOQWP
NN
O\(JILJIO\

-

BN o NN |

>

60. For any real number a, the equation |x — a| = 7 can be
thought of as meaning “the distance on the real number
line from x to a is 7 units.” How far apart are the
2 solutions for x ?

F. a

G. 2a

H 7+a

J. V7*+d?
K. 14

| END OF TEST 2
STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.
DO NOT RETURN TO THE PREVIOUS TEST.
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- READING TEST *
35 Minutes—40 Questions

DIRECTIONS: There are four passages in this test: Each
passage is followed by several questions. After reading
a passage, choose the best answer to each question
and fill in the corresponding oval on your answer
document. You may refer fo the passages as often as

necessary.

Passage |

10

- 15

20

25

. 30

35

PROSE FICTION: This passage is adapted from a short story
titled “Lydig McQueen” by Wilma Dykeman, from her book The
Tall Woman (©1980 by Wilma Dykeman).

The wind was a wild dark thing plucking at the
trees outside, pushing at the door and chinks of the
house, then dying down still as death before another
rise and rush and plunge. Listening to it, Lydia
McQueen waited and shrank deeper under the quilts,
until the corn shucks in the mattress rustled and settled
into new shapes. .

She thought about the wind—like the great fine

horse Papa had owned once, strong and willful with no

bit or stirrup that could tame it. Quiet for a spell, it -

would break with a sudden burst of energy. Yet her
father, a gentle man, had controlled the wildness in the
horse as surely and invisibly as the sun controlled the
plants in her mother’s garden.

The wind came again and she felt the pleasure of
her own body-warmth. Like a seed, she felt, one of
those sun-warmed seeds in the spring ground, growing,
ready to give forth new life. She was aware of the dry
smell of the corn shucks. Her mind went back to the
day she had sorted them, pulling the leaves off the hard
stalk ends, working toward a soft stuffing for the
mattress.

“It’s a fair mornikng,” she had said to her mother as

they worked out in the yard beside the corncrib, where
the shucks had been stored through the winter. ‘

“Ah, fair enough today, but dogwood winter yet to
come,” her mother had answered.

And after the cold spell, when dogwoods bloomed,
there would be whippoorwill winter and blackberry
winter. The reminder cut through her joy. She set her
mouth and determined to be stingy with her words the
rest of the morning—until she spied the first flock of
robins down in the new-cleared field. Then she cried
out in pleasure again for her mother to come and see the

plump, neat birds, for Lydia Moore was eighteen, and .

chancy too, like March. -

But, “You’re a girl turned woman now,” her
mother said. “No need for such wispy ways. Anyway,

ACT-55C-SAMPLE

40

45

50

55

32

60

I'm of a mind they won’t last. long around Mark
McQueen.” :

Lydia thrust a cornhusk into the sack so sharply
that one dry blade cut her middle finger. She knew her
mother had wanted hér to marry Ham Nelson. “Ah,
Hamilton’s a well-turned boy, and the Nelsons are good
livers,” she had said when he brought Lydia home once -
from a sociable at the Burkes’. And Lydia had replied,
remembering all that Ham had told her as they rode
home that night, “Could he buy himself for what he’s
worth, and sell himself for what he thinks he’s worth,
he’d be princely rich overnight.”

But Sarah Moore had not smiled. Neither had she
smiled when her daughter came to ask her if Mark
McQueen could speak to Jesse Moore about their
wedding. “With all the boys in the valley, Lydia, you
must choose him?”

“Mama, I didn’t choose.”

But she had felt helpless to explain how it was
since that first day she’d seen Mark at the mill, big and
dark with the strength of a mountain in him. She was
full of a strange confidence and beauty, and wept to

- herself behind the barn because she had so little

65

70

75

.and a, girl in love,”

confidence and was so lacking in prettiness. It was a
time of days like spring, changeable and 'quick with
life. She had no words to fit such feehngs “I didn’t
choose, Mama. It’s like I was chosen.”

Her mother looked at her then, steadily. .

“Living won’t be easy with Mark McQueen. He’s
a proud man, with a restlessness on him that will be
hard to still. Such a man’s life can hurt his wife, be he
ever so in love with her or not.”

For a moment she ‘was quiet, looking no longer at
her daughter but at the distant woods. Lydia heard the
first spring insects humming out in the fields, heard
their tiny rustling in the dry cornhusks around her
where the warm sun was stirring them to life. But all
she saw in her mind’s eye was Mark McQueen s face
and his stout sun-browned arms.

“It may not seem so to you now, being a girl only
her mother went on, “but there’s

GO ON TO THE NEXT PAGE.
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80

something beyond even love, for a woman as well as a
man. A 'body’s personhood.”

Her mother’s gaze came back from the woods to
the yard and the house and the garden patch beyond,

- and Lydia did not know how to answer all this strange

"85

90

95

. When Sarah Moore says,

e{m o

talk. The insects ticked. and droned even louder around

“them.

“Your papa has gentle ways not common to many
men. A man who is driven is not easy to live with.”

The silence between them was longer.than the

words before Lydia said softly, “I never asked for easy,

Mama.”

“I know, I know.” Her mother turned suddenly
back to the crib and an armful of shucks. Her voice was

.muffled. “I’'m beseeching the Lord to hold you in the

hollow of his hand.”

4

“No need for such wispy
ways. Anyway, I’'m of a mind they won’t last’ long
around Mark McQueen” (lines 38-40), she is
expressing her belief that Mark will: :

A. be incapable of love.

..B. break her daughter’s spirit.

C. treat her daughter like a child.
D. move away from the farmland.

. It can be reasonably inferred from their conversations
. that Sarah Moore believes her daughter will:

come to her senses before it’s too late.

feelings.

listen to her mother but marry Mark anyway.
eventually grow out of the youthful desire to
marry Mark.

The idea that love is not the result of rational thought
is best exemplified by which of the following quota-
tions from the passage?

A. “You’re a girl turned woman now.”

B. “I didn’t choose.”

C. “There’s something beyond even love.”

D. “A man who is driven is not easy to live w1th ?
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follow her mother’s advice in spite of her own

10.

As it is used in line 31, the phrase “determined to be
stingy with her words” most nearly means that Lydia
wants to be: :

F. critical.
G. sarcastic.
H. analytical.
J. quiet.

The passage makes 1t clear that Lydla and Mark

A. get married.

B. don’treally know each other.

C. will be alienated from Lydia’s family.
D.. don’t know what love really is.

. In the second paragraph (lines 8- 14) Lydra compares ’

her father to:

F. the wind.
G. a garden.
H. ahorse.
J. the sun.

We may reasonably 1nfer from details in the passage
that the wind, Papa s horse, and Lydia are alike in that
they are all: -

A. unpredictable and intense.
B. strong and destructive.

C. beautiful and free.

D. disciplined and stubborn.

Lines 57-65 indicate that Lydla ] feehngs about
herself are best described as: .

F. mournful.

G. erratic.
H. peaceful.
J. steady.

It can be reasonably inferred -that the corn shucks and
the seed mentioned in the third paragraph (lines
15-22) are symbolic, respectively, of Lydia’s:

A. memories and regrets.
B. past and future.

C.. youth and inpocence.
D. maturity and wisdom.

Details in the passage suggest that Lydia’s mother
objects to her marrying Mark McQueen because she
believes:

F. he doesn’t really love her daughter.

G. Lydia will not be well-supported financially.

H. he is of a lower social class than Lydia’s family.
J. Lydia will lose her independent identity.

GO ON TO THE NEXT PAGE.
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SOCIAL SCIENCE: This passage is adapted from “The Sacred
Turnip: Dietary Clues Gleaned from Tuber Traditions,” an

article by Ron Cowen that appeared in Science News (©1991

by Science Services, Inc.). The Blackfoot, or Sihasapa, are one
of the seven groups making up the Lakota Indian tribe of the
northern Great Plains. :

Historians say the week-long sun dance adopted
by the Blackfoot confederacy of Montana and Alberta,
Canada, appears unique in that it gives special recog-
nition to a stringy, bulbous tuber called the prairie
turnip. '

A Canadian ethnobotanist is now scrutinizing the
sun dance ceremony and other Blackfoot traditions in
search of clues to the prairie turnip’s role in daily tribal
life. So far, she says, the findings suggest that this

lowly legume earned its sacred status by serving as a ‘

nutritional staple.

A key part of the Blackfoot sun dance began With‘
the transfer of a sacred bundle to a holy woman who
had pledged allegiance to the sun, says Sandra Peacock

of the Fort Calgary (Alberta) Historic Park. The bundle
-held special garments and accessories, including a

wooden stick and a headdress of buffalo hide adorned
with feathers and pendants of weasel skins. According
to tribespeople interviewed by Peacock, the stick
symbolized the tool used to unearth the prairie turnip,
while the feathers represented turnip leaves.

A 1957 photograph of a Blackfoot holy woman
depicts an additional adornment: a bunch of dried,
twisted roots tied to the headdress. That photo, Peacock
says, sparked her fascination with the prairie turnip.

Despite its name, the prairie turnip (Psoralea
esculenta) bears little resemblance to the more familiar
root vegetable known as the turnip (Brassica rapa).
The latter is not a legume and has a more rounded,
smooth appearance than the elongated, scraggly prairie
turnip, which resembles a skinny potato.

Historical reports from the 1800s and early 1900s
indicate that Plains Indians, especially those living in
the more prairie-like regions south of Montana, once
cultivated P. esculenta widely. The three tribes of the
Blackfoot confederacy—the Piegan, the Blood and the
Blackfoot—do not eat the prairie turnip today, but
Peacock says the plant’s extensive roots in Blackfoot
legend and language strongly suggest that it once
ranked along with buffalo meat as a vital element in
their diet. :

Peacock speculates that ceremonies and legends
depicting the prairie turnip as sacred may reflect the
tribes’ need to conserve the plant, which the nomadic
Blackfoot may have had difficulty harvesting as they
moved from one site to the next. On the other hand, she

-notes, Blackfoot elders recall that any tribe member

could dig up the tuber without restriction.
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The vegetable’s prevalenée in tribal customs could
also signify that it held special status in the Blackfoot

--diet, Peacock suggests.

In an attempt to determine the prairie turnip’s’
dietary significance for the northern tribes,
[researchers] analyzed the tuber’s nutritional content.
Their study found that the leguminous tubers contain
about 7 percent protein-—much more than potatoes

(2 percent) and nearly as much as maize (9 percent).

* The plant also contains a significant.amount of vitamin
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C—17.1 milligrams_ per 100 grams of weight. This
approaches the vitamin C concentrations in fresh citrus
fruits (25 to 30 mg per 100 g). Moreover, they said,
a flour made by pounding dried ‘prairie turnips
(a common tribal practice) would lose little of its
vitamin C during storage unless subjected to moisture. -

The analysis suggested thdt P. esculenta “was
widely and regularly usell [among tribes of the northern
plains] and formed a:valuable food resource of high
nutritional quality.” '

'

Historical accounts from Canadian expeditions in
1857 and 1859 describe women and children harvesting
prairie turnips with fire-hardened, slightly curved
digging sticks. The tuber’s hard, dark skin was easily .
removed, exposing a white, fleshy interior. Some ate
the tuber raw; others boiled it, roasted it, or dried it and
then crushed it to a powder.

But scientists still lack definitive evidence of the
prairie turnip’s place in the prehistoric Blackfoot diet,
says Peacock, who maintains that most studies of tribal
lifestyles have instead focused on buffalo bones, and
occasionally the remains of medicinal plants. To clinch
the issue, she proposes that archaeologists undertake an
extensive search for the burnt remains of -P. esculenta
and other pit-roasted plants, since charring would have.
protected them from chemical or bacterial degradation.

. In the meantime, Peacock continues to compile
ethnographic data on the prairie turnip. This summer,
she hopes to witness her first sun dance and view the
full costume worn by the holy woman, replete with
headdress and digging stick.

According to the passage, the conclusions made about
the nutritional content of the prairie turnips were based
on a: o

A. comparison of the protein and vitamin C content
of the plant to that of other food crops.

B. presentation of the percentages of recommended
minimum daily requirements of various vitamins
and minerals contained in the plant.

C. study of the overall health of the Blackfoot people
relative to that of other Plains Indians.
chemical analysis of the: amounts of fats and
sugars present in the plant.

‘GO ON TO THE NEXT PAGE.
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The research being undertaken by Sandra Peacock can
best be summarized as a study of both the:

F. prairie turnip (Psoralea esculenta) and the

13.

common turnip (Brassica rapa).

G. current lifestyle and the traditional ways of the
Blackfoot people. : '

H. methods of cultivation and the methods of
preparing the prairie turnip for consumption.

J. Dbotanical qualities of the prairie turnip and the
ways and traditions of the Blackfoot people.

According to the information presented in the passage,
which of the following best describes the relationship
between Psoralea esculenta and Brassica rapa?

A. They are different names for the same speciés of
turnip. ‘

~ B. They are members of the turnip family, closely

14.

15.

related in appearance but having different

nutritional properties.
Both plants were used by the Blackfoot people as
important sources of protein and vitamin C.

D. While they share the general name turnip, they
have little else in common. '

According 'to the passage, the original motivation for
Sandra Peacock’s research into the prairié turnip can
be traced to: : . ‘

‘F. her witnessing the week-long sun dance ceremony

of the Blackfoot.

G. a photograph of the headdress used in the
Blackfoot sun dance ceremony.

H. surprising information about the nutritional value
of the prairie turnip.

J. a historical account of the prairie turnip being
harvested by the Blackfoot.

As it is used in line 80, the word clinch most nearly
means to: :

A, settle or resolve.

B. stick to.

C. grasp or recognize.
D. fasten firmly on.
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_ concerning the role of the prairie turnip in the
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As it is depicted in the passage, the root of the prairie
turnip can be best described as:

F. ‘rounded and smooth-skinned. o

G. slender and dark-skinned with a white interior.
H. bulbous with a thin, white skin.

J. stringy with a soft, purplish skin,

It can be inferred that the word lowly, as it is used in
line 10, primarily refers to the prairie turnip’s:

overwhelming abundance. -

subpar nutritional qualities. :
humble or commonplace appearance.
economical value as a food crop.

According to the nutritional data presentéd in the .
passage, the protein content ranking, from highest to
lowest, of the following vegetablesis: - '

F. maize, prairie turnips, potatoes. E

G. potatoes, prairie turnips, maize.

H. prairie turnips, maize, potatoes.

J. . prairie turnips, potatoes, maize.

According to the passage, Psoralea esculenta can be
defined as all of the following EXCEPT a:

A. legume.

B. prairie turnip:

C. potaio.
D. vegetable.

Up to the time of this article; ‘Sandra Peacock’s theory

traditional Blackfoot diet gained support from all of
the following sources EXCEPT: ’ :

ethnographic data.

nutritional analyses. .
archaeological evidence:
interviews with Blackfoot elders.

GO ON TO THE NEXT PAGE.
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-HUMANITIES: This passage is adapted from Alice Walker's

autobiographical essay “In Search of Our Mothers’ Gardens”
(©1974 by Alice Walker).

How was the creativity of the Black woman kept
alive, year after year and century after century, when
for most of the years Black people have been in
America, it was a punishable crime for a Black person
to read or write? And the freedom to paint, to sculpt, to
expand the mind with action, did not exist. Consider, if

_you can bear to imagine it, what might have been the

result if singing, too, had been forbidden by law. Listen
to the voices of Bessie Smith, Billie Holiday, Nina
Simone, Roberta Flack, and Aretha Franklin, among
others, and imagine those voices muzzled for life.

- In the late 1920°s my mother ran away from home
to marry my father. By the time she was twenty, she
had two children and was pregnant with a third. Five
children later, I was born. And this is how I came to
know my mother: she seemed a large, soft, loving-eyed
woman who was rarely impatient in our home. Her
quick, violent temper was on view only a few times a
year, when she battled with the white landlord who had

the misfortune to suggest to her that her children did.
not need to go to school.

She made all the clothes we wore, even my
brothers’ overalls. She made all the towels and sheets
we used. She spent the summers canning vegetables
and fruits. She spent the winter evenings making quilts
enough to cover all our beds.

During the “working” day, she labored beside—
not behind—my father in the fields. Her day began
before sunup, and did not end until ldte at night. There
was never a moment for her to sit down, undisturbed, to
unravel her own private thoughts; never a time free

~ from interruption—by work or the noisy inquiries of
her many children. And yet, it is to my mother—and all
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our mothers who were not famous—that I went in
search of the secret of what has fed that muzzled and
often mutilated, but vibrant, creative spirit that the
Black woman has inherited, and that pops out in wild
and unlikely places to this day.

But when, you will ask, did my overworked
mother have time to know or care about feeding the
creative spirit? '

The answer is so simple that many of us have
spent years discovering it. We have constantly looked
high, when we should have looked high—and low.

For example: in the Smithsonian Institution in
Washington, D.C., there hangs a quilt unlike any other
in the world. In fanciful, inspired, and yet simple and
identifiable figures, it portrays the story of the
Crucifixion. It is considered rare, beyond price. Though
it follows no known pattern of quiltmaking, and though
it is made of bits and pieces of worthless rags, it is
obviously the work of a person of powerful imagination
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and deep spiritual feeling. Below this quilt I saw a note
that says it was made by “an anonymous Black woman
in Alabama a hundred years ago.” :

If we could locate this “anonymous” Black woman
from Alabama, she would turn out to be one of our
grandmothers—an artist who left her mark in the only
medium her position in society allowed her to use.

And so it is, certainly, with ‘my own mother.
Unlike Ma Rainey’s songs, which retained their cre-
ator’s name even while blasting forth from Bessie
Smith’s mouth, no song or poem will bear my mother’s
name. Yet so many of the stories that I write, that we
all write, are my mother’s stories. Only recently did I
fully realize this: that through years of listening to my
mother’s stories of her life, I have absorbed not only
the stories themselves, but something of the manner in
which she spoke, something of the urgency that
involved the knowledge that her stories—like her life—
must be recorded. : : :

But the telling of these stories, which. came from
my mother’s lips as naturally as breathing, was not the
only way my mother showed herself as’an artist. For
stories, too, were subject to being distracted, to dying
without conclusion. Dinnets must be started, and cotton
must be gathered before the big rains. The artist that
was and is my mother showed itself to me only after
many years. This is what I finally noticed.

She planted ambitious gardens—and still does—
with .over fifty different varieties of plants that bloom

‘profusely  from early March until late November.

Before she left home for the fields, she watered her
flowers, chopped up the grass, and laid out new beds.

Whatever she planted grew as if by magic, and her
fame as a grower of flowers spread over three counties.
Because of her creativity with her flowers, even my
memories of poverty are seen through a screen of
blooms.

The passage suggests that the narrator’s mother, as
compared to the narrator’s father, performed:

less work in the fields.

more work in the fields.

the same work in the fields.

only what she could do when the children were not
around. - ‘

FarEy

It can reasonably be inferred from the second para-
graph (lines 12-21) that the narrator’s mother:

was short-tempered with her children.

had more children than she was able to care for.
placed high value on her children’s education.

told stories to her children to express her artistic
creativity.

~EQm
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“The passage primarily emphas1zes the idea that the

,  creative spirit of African Amerlcan women:

24,

2.

A. ‘was destroyed by society.

'B. has endured through difficult times.
C. was recognized years ago.:
D.: has had ample outlets for expression.

nearly means:

F.' maintained.
" G. suppressed.
H. destroyed.
J. ‘cultivated

!

‘A, explores.
B. restates.
. C. .ignores. .

D alters

26.

In the context of the passage, the phrase “We have

hlgh—and low” (lines 43-44) suggests that:

F. cultural historians have overlooked the 1mportance
of domestic arts. |
G. religious artists create works of powerful sp1r1tual
- significance.-

- H. anonymous artists have fmally achleved the recog— ‘

- nition they deserve.
w J.:

clues to our collectlve past.

AGT:55C-SAMPLE

As 1t is used in lines 11 and 35, the word muzzled most

The passage opens by posmg a questron that the rest of =
. the passage: )

constantly looked high, when we should have looked :

anthropologists ¢tonduct wide- ranglng searches for

27
- quilt is displayed in the Smrthsoman for all of the
, followmg reasons EXCEPT that it was made

.28,

29.

bnw»

- 30

mEam

G.
' H.. a famous artjst. .
J,

It can reasonably be inferred from the passage that the

A. atleasta hundred years ago

B. with great 1mag1natron A
C. -according to a unique, complex pattern

- D." by a well-known Afrlcan Amencan qu11t maker

The passage 1nd1cates that the qullt referred to'in 11nes

45-47 is'the work of:

F. an unknown person.
_thé narrator’s grandmother

“a-woman of posmon in soc1ety

)

The author 1nd1cates that, When it camé to storytelhng,

she had learned from her mother to tell stones

.~ that always had a good endmg ‘
with sadness and anger
with great conviction.
ina matter of fact style

It can reasonably be 1nferred from the passage s last

sentence that when the author thinks-of her childhood,

- the memory of her mother’s flowers makes her feel:

less pained.

‘more ambitious. .

less fortunate.” . : -
more bitter. . e FRERN

GO ON TO THE NEXT PAGE.
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NATURAL SCIENCE: The followmg passage is adapted from-

an article by Lucia Jacobs titled “Cache Economy of the Gray

“Squirrel” (©1 989 by Amerlcan Museum of Natural History).
In. the erghteenth “and nineteenth centuries,.

travelers in North America reported seéinig armies of
squirrels, sometimes numbering in the thousands,
making their way across fields, forests, and rivers.

"These movements continued to amaze and appall the
citizenry .until the squirrels’ habitat, deciduous forest,-

was greatly reduced in the late 18005

The gray squirrels’ mlgratlons were undoubtedly a

response to changes in their food supply. Their species .

evolved in a virtual ocean of food trees—the primeval

" continent from the Atlantic. Ocean to the Mississippi

15

River. The annual changes in the squirrels’ diet must
have been much the same then as they are now. In.the
spring, squirrels eat tree buds, tree flowers, and early
seeds, such as maple samaras. These provide energy

- and key nutrients, such’as calcium and sodium. But by

20

midsummer, food is scarce, and by late July, the squir-
rels lose weight, resorting to such inferior foods as

mushrooms. With the coming of fdll, however, the
‘mainstay of the squ1rrels

. nuts—appears.
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But even when the forests were at their most
extensive, and oaks and hickories in seemingly endless
supply, the fall harvest was unpredictable. Oaks and
hickories produce huge crops. of acorns and nuts, but

“deciduous forest-that once covered the North American =~

diet—aco‘rns and other. .

only at odd intervals. During some autumns, often those

following a late spring frost, which may kill the trees’
flowers, there is virtually no seed crop at all. Compiling
mformatlon from newspapers and travelers’® accounts,
A. W. Schorger showed how. squirrel migrations corre-
lated with years of poor seed production. His work,

published in 1949, showed that other species were-also ’

affected by the trees’ crop failure; in acorn-poor years,
for example, newspapers reported free-running hogs
starving to death 1in the forest.

Innumerable changes in the North American
‘landscape  eventually brought an end to the great

squirrél migrations, although an occasional small

exodus has been observed in the twentieth century. The’
‘gray squirrel is still, however, very much affected by

fluctuatlons in nut crops.

As a rule tree squirrels keep alive from fall until
spring by eating stored foods, while ground squirrels
hibernate. (Some squirrels, such as the eastern chip-
murk, do both.) But some. tree squirrels have an easier
time of it than others. Those that live in evergreen

"’55

germrnate the same. year they. are buried. When trees‘

. fail to produce many nuts, these squrrrels reproductive

- success, as well as surv1va1 1tself is Jeopard1zed

60

leen the gray squ1rre1 s hfe and death depen-'
dence on stored food, its manner of storing may seem
oddly inefficient. Most food—storlng maimmals maintain

- either'a single larder ot a mix.of central larder and

.many-spread-out smaller caches.  Eastern’ chrpmunks :

_for example, keep a large underground:store in their ‘

. 65

burrows-and, as this is depleted, turn to scattered sur-
face stores to replenish it. The gray squirrel’s habit of

"+ burying ‘each nut separately—called scatter-hoarding—

70

seems. cumbersome “Why does this squ1rre1 av01d

puttmg all 1ts’ eggs m one basket"

Chrlstopher Smlth of the Unrversrty of Kansas,
has suggested that the dlstrlbutron of nuts and acorns
and competition. from other seed eaters force gray
squirrels to scatter-hoard. Because gray - squlrrels may

not know which trees will produce a big crop, the argu-

" ment goes, each squirrel must forage over a large area

75

each year. Such:a large area cannot be exclusive, as

_other squirrels inevitably arrive to harvest seeds from

80

the masting trees. For that matter, even small areas

cannot be defended against an influx of competing -
squirrels, so the only chance is to cover a lot of terri-
tory. . y

Support for this theory comes from!Helen Lair, of

‘the University of Laval, who observed red squirrels in

- Quebec and found' that they put food ‘in larders only

85

.31

forests, such as the red squirrel of eastern and northern -

forests and the chickaree of western forests, generally
gather pine cones and hoard them near their nests. Such

- pine cones may not be abundant-every year, but if cut

green and stored in'a moist spot, they may last several
years. But gray and fox squirrels must replace their

stored food supplies every year, for acorns and nuts *

' 38
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when it was abundant and easily harvested from an area
small enough to be subsequently defended Otherwise,
they acted like gray squirrels, scatterrng many small,
hrdden undefended caches.

The author likens gray squ1rrels of the eighteenth and * °

nineteenth centurres to * armles in line 2 because these
animals: :

A.
B.

struggled to survive when Food ‘was scarce.
defended their territories against invaders..
stored their supplies in underground caches.
D. traveled in large groups.

The author calls the gray squirrel’s‘ method of storing
food. “oddly inefficient” in line 60 because these .
squrrrels

F.. migrate across f1e1ds and forests in search of food
G. bury each of their nuts in a separate hole.

‘H. often cannot remember where their food is burred
J. _keep an underground store of food

GO ON TO THE NEXT PAGE.
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The passage 1ndlcates that unlike tree squrrrels ground
squirrels generally do .NOT depend on stored food‘
because ground’ squirrels: : ‘

eat foods that germinate.

have a more varied diet.

live.in more abundant areas.
" tend to hibernate. '

According to Chr1stopher Smith, the gray squrrrel s ) o

method of storing food is a response to:

F. abundant crops of nuts and acorns in small areas.
G. searching for food over a small area each year.
H. - competition for food and uneven nut distribution.

-J. the frequent 1nﬂux of mrgratrng squlrrels

It may be reasonably mferred that’ ‘the author argues
that squirrels living in evergreen forests may “have an .

" easier time of it” (lines 46-47) because:

A, pine cones are more abundant.

36.
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B. pine cones can be stored for years.
C. these squirrels generally hibernate.

"D. these areas have less competrtlon for food..

‘The passage 1ndrcates that the results of the stud1es

done by Christopher Smith and Hélen La1r were:

favorable.
inconclusive. - . .
contradictory.
consistent.

3.
to the great squirre] mrgratrons‘7 o

What does the passage state eventually brought an end

A. The end of nut crop fluctuations .- |

- 'B. Areduction of deciduous forests ~* -
© C. The-ability of squirrels:to keep a central larder
- 'D. An rmcrease in acorn and nut productlon

38.
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'squirrel. mrgratrons have been:

The passage indicates that durmg the twentreth century
F. frequenit glven the 1ncrease 1n harvest unpre- ‘
. ; dictability. ’
unnecessary due to a stablhzed food supply
appalling and amazmg to the North Amerlcan citi-
zenry. '
occasional and on a smaller scale than 1n prevrous
. centuries. : o

The passage 1ndrcates that if trees produce no- seed‘

~crop in autumn, a likely cause isthat: ..

AL »competrtron for food was fierce that year

40.

9;0?

B. premature . winter temperatures caused tree
: . damage. v

C. the landscape was changed 1mmense1y

D. alate spring frost had kllled the trees ﬂowers

The author of the passage suggests; that as compared
to recent nut harvests, nut harvests in the elghteenth
and nineteenth centurres were

generally abundant:

.. virtually nonexistent. -
similarly unpredictable.
increasingly extensive.

END OF TEST 3
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SCIENCE REASONING TEST
35 Mlnutes———40 Questlons

DIRECTIONS There are seven passages in th|s test

Each passage is followed by several questions.. After,

reading a passage, choose the best answer’to each

questlon -and fill in the correspondmg ‘oval on your

answeér document. You may refer to the passages as

- often as necessary.

- You are NOT perm|tted to use a calculator on this test

; , Passage 1

Marble, which ¢an be used to make. bu11d1ngs is
composed mostly of calcium carbonate.
corroded (broken down) by -air pollutants such as ﬂy ash,

" nitric acid; and sulfurzc acid. , , .

* Fly ash contalns corrosrve matenals

.8 N1trlc acid, produced when nitrogen le)Clde reacts with
water; reacts with calcium carbonate to form calczum
nitrate. .

_». Sulfuric ac1d produced when sulfur dioxide reacts with -

air and water, reacts with calcmm carbonate to form
calcium sulfate

A screntl_st studied marble corrosion.

‘Experiment 1

~ The scientist measnred the initial mass of 4 sarnples_
from the same piece of marble. Each sample had a surface -

area of 24 square centimeters (cm’). The scientist placed

Marble is

each sample in a separate container and added an acid sOlu- '

- tion (acid and water), with an acid concentration .of either
30 parts per'million (ppm) or 100 ppm. After 24 hours the

scientist removed each sample, scraped off the calcium

- nitrate or calcium suifate, and measured the final mass of

the sample. The scientist determined the mass of marble
lost from each sample, in milligrams (mg) as shown in
Table 1. , ,

ACT-55C-SAMPLE
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Expertment 2

The scientist obtarned marble samples from

'bulldrngs of different ages. The ‘outer surface of each
- :sample had a gray crust of calcium sulfate, calcium nitrate,

and fly ash, The" concentratlons of calcium ‘sulfate and
calcium nitrate in the crust were determrned as shown in

Table 2.
Table2
: ~Agej of :Caléium sulfate f Calcium nitrate
Marble | building | concentration cohcentration
sample | (years) (ppm) (ppm)’
5 STl 30 | 3
6 50 | 200 10
7 100 1375 , 15
8 200 400 - 16

1. Accordmg to the 1nformat1on in the passage, a' sample
, of marble from which of the following buildings would
be expected to have -the greatest concentration of

A. A 10-year-old building i in a city with low levels of
"B. A 10-year-old building in a city. with high levels of

' ~C. A 25-year-old building in a city with low levels of
D. A 25-year-old building in a city with high levels of

~ Table 1.
. ’ “ Acid MaSlS of
' — ‘marble
Marble v concentration lost calcium nitrate on its surface?
sample. type - | (ppm) (mg)
1 . sulfuric’ , 30 _ ‘ 10,’9 nitrogen dioxide in the atmosphere
2 , acid 100 56.2 nitrogen dioxide in the atmosphere
3 nitric 30 . 4.0 nitrogen dioxide in the atmosphere
' acid
4 : 100 43 _ nitrogen dloxrde in the atmosphere
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“2.1In Experiment 1 which of the following factors was

" the same for all 4 marble samples”

F.. Type of acid used -
G. Concentration of acid used

. H. Initial surface area of the sample
J. Final mass of the sample

. A companson of the results for Samples 1- and 3

Q@QQOQQ@@

5. If the scxent1st were to repeat Expenment 1 but break ‘

supports the hypothesis that marble corrodés more . .

quickly when exposed to:

A, sulfuric acid than when exposed to nitric acid.
‘ nitric acid than when exposed to sulfuric acid.

- sulfuric acid with a‘concentration of 100 ppm. .
. nitric acid with a‘'concentration of 30 ppm than
_ nitric acid with a concentration of 100 ppm

B.
“C. sulfuric acid with a concentration of 30 ppm than
D

. In Experiment 1, if the scientist had added nitric a01d

with a concentration of 50 ppm to a sample of marble -
approximately how . -

with a surface area of 24 cm’,
much marble would have been lost after 24 hours?

F. 3.0mg
‘G. 4.1 mg
~ H. 45mg
~ J.. 84mg -
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every sample of marble into 4 pieces'to increase. the

" - surface area exposed to-the acid, how would the mass
. of marble lost most likely be affected" SN

A. The mass ‘of marble lost would decrease for all
. 4 samples. =

. The mass of marble lost would decrease for

~‘Samples 1 and 2 and increase for Samples 3and 4.

all'4 samples
. “The mass of marble lost Would increase. for all
4 samples

B
i C. The mass of marble lost would stay the same for
D

kil

s Accordmg to the passage if a scientist wanis. to study
the effect of nitrogen dioxide on marble corros10n, ‘the

scientist should measure the amount of which of the
followmg substances on.the surface of the marble? o

* F. Fly ash

G. Sulfuricacid
H. Calcium sulfate.
J. Calcium nitrate

GO ON TO THE NEXT PAGE.



Passagell : ‘ e . L

: Hydrocarbons contain carbon (C) and hydrogen (H)
atoms joined by chemical bonds (which are represented in
"chemical notation by short straight lines). The carbon
atoms are bonded to each other to form linear, branched, or
cyclic structures (examples are presented in Table 1). The
boiling points of these hydrocarbons. were measured and

listed in Table 2, and their densztzes (ratlo of mass to
volume) are listed in Table 3.

‘ Table 1
Number S : ' ‘ - Structure
of carbon : . : - ‘ -
atoms | . Name ' linear . P branched , -cyclic
3 propane YH3C—CH2‘—YCH3 o . | none B B _H‘_zC\— /CH2 ,
S " ‘ ' .~ CH,
4 butane | H,C—CH,—CH,—CH, ch——?H—cm - - ‘H‘ZC—CHZV' |
' \ SRR R cﬁ, S L H,C—CH,
5 pentane | H C—CHZ—CHZ CH,—CH, ' : vH3C4?H—;CH2—CH§ | HC—CH,
| CH, ©~ | BC cn,
TRy
CH,
6 hex;inc H,C—CH,—CH, —CH,—CH,—CH, H;C—(IEH—CHZ—CHZ;CHg . :"/C\Hz
T 'H,C 'CH,.
\/ .
; , | CH,
7. | heptane | H,C—CH,—CH,—CH,—CH,—CH,—CH, H;C——CiiH—CHZ——CHZ—CHZ CH, | H,C—CH,
N CH, o ' HZCI”CHZ_-.
| BC CH,
"N/
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Table 2 ‘ _ : N _‘8.‘ Accordmg to Tables 1 and 3, whlch hydrocarbon has .
S _ - the lowest densny" ‘ S e . L
: . : Boiling point (°C) ‘ o R Linear propane.
- Number of - _ ‘ "G. Branched butane. -
‘carbon atoms | . linear | branched cyclic . -H. Branched pentane -
— _ — ' - J. Cyclic heptane.™ " - .
3. —42 - none - - 33 B R R T
4 0 =127 12 .
-5 - 36 . 28 49 1 S ~ B ' : .
-6 69 60 81 9, For each type’ of structure, what is the relatlonshlp
7 98 20 . 118 . .+ between the number of carbon atoms to the boiling
\ pornt and density? As ‘the number of carbon atoms
) “increases, the boiling point: ok .
“A. increases but the density decreases
- B.. decreases but the density increases. &
- Table 3 -~ C. decreases and the density decreases.
. — D. increases and. the dens1ty 1ncreases
. . - ‘Density (g/cm®), o L :
Number of ,
carbon atoms, linear branched.: -cyclic | DRERNERER ' o
3 059 one ' 072 . 10. Accord1ng to Table 3, how do the structures of butanes
1 0.60 0.55 073 G carbon atoms). correspond to their density? |
5 0.63 0.62 1095 F.  The cyclic butane has.a hlgher density than the
6 - 066 . 0.65 0.78 e linear and the linear has a hlgher density than the
7 0.68 0.68 - 0.81 . branched. - .
- G.. The cyclic butane has a higher dens1ty than the
. branched and the branched has a higher density
than thelinear.
H. The branched butane has a hlgher density than the
"~ linear and the hnear ‘has a hlgher density than the
Tt oeyclic.
J.. The branched butane has a higher dens1ty than the
cyclic and the cyclic has a hrgher den51ty than the
11near .
11. \Wthh hydrocarbons in Table 2 are gases at 10°C?
Lo -A. All the lipear, branched, "and cyclic h drocarbons'
7. According to Table 2, by approx1mate1y how many . containing at least 5'carbon ator}rlls }y
degrees does the boiling point of a linear hydrocarbon - - B. The cyclic butane plus all the hnear, branched, and ‘
vdlffer from that of a branched hydrocarbon’ with the - cyclic hydrocarbons conta1n1ng at least 5 carbon
~same number of carbon atoms? : . atoms ‘
A. 5°C C o . o C.  The:linear and cychc propanes and the linear,
B. 10°C =~ , ST " branched, and cyclic butanes - ,
C. 20°C o o . -« . D. The linear and cyclic propanes and the 11near and :

D. 30°C o _ B - ,‘branched butanes

’
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Passage m
When an object falls from a low altitude to Earth and

- an acceleration of 9.8 meters/second (m/sec ). .

“Using 2 stopwatch that is accurate to. the nearest

0.01 sec, students measured the times for 2 spheres to fall

to Earth and used these times to calculate the spheres
, 'acceleratlon :

Experzment 1 -
The students measured the times requlred for a 200 g

" wooden sphere and a 50 g plastic sphere to fall 2.5 m to
"Earth. The. spheres. had equal radii. (Note: A. sphere’s

surface area is proportional to its- radius squared; - its
volume is proportional to its radius cubed.) The results are
' shown in Table 1. . :

Table 1
Measured time of fall -
(sec)
.,Wooden ,plas"tlc
Trial .~ sphere . . sphere
1 075 . 081
2 0.85 . | 0.84
3 0.80 - 0.78
4 . 0.79. o - 078
5 - 077 - 0.80

For the wooden and plastic spheres, the avera‘ge/ times were
-0.79.sec-and 0.80 sec, respectlvely, and the average accel--

erations were 8 0 m/sec’ and 7.8 m/sec’, respectrvely

) Experzment 2 =

The procedure in Experlment 1 was repeated for the
same spheres falling 9.7 m to’ Earth. The results are given
in Table 2

Table 2 -
Measured time of fall
(sec)
"~ wooden ' plastic |
Trial _ ~ sphere 'sphere

6 : 150 - | 156
7 _ 1.42 : - 1.65
8 1.42. _ 1.58
9 1.51 1.62
10 145 1.61

~For the wooden and plast‘ic\ spheres,

and the average accelerations - were 9.1 m/sec’ and
7.6 m/sec’, respectively.

 ACT-55C-SAMPLE
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> the average -
measured times were 1.46 sec and 1.60 sec, respectlvely, :

Experzment 3
The students tested the hypothe81s thatthe stopwatch v

' was not being started or stopped at the right moments.
gravity is the only force acting upon it, the object will have o

Using the, stopwatch and a blinking lrght that flashed every

'1.00 sec, the students’ measured .the time- interval between

adj acent ﬂashes The results are. glven in, Table 3.

Ta‘ble‘3, '
Ti 1rne 1nterval
' Tr1al o .(sec)
, o1 L1104
ol V120 1.08 |-
13 |, 1.00 .-
w14 1100

The: average time recorded inv Tab‘le-?a"‘ _was '1{06; sec.

12.'In Experrmen\t 1, if an additional trial were conducted

_using the plastic sphere, the sphere S measured time of
~ fall would most l1kely be nearest

- F. 0.70 sec.
G. 0.75 sec. -
H. 0.80 sec.
J. 0.90 sec.

13. The students conducted Experiments 1 and 2 using
both the wooden sphere and the plastic sphere, most
likely to detetmine if a sphere’s acceleration was
affected by its composition and its:

mass.
radius.
surface area.
‘volume.

el 'S
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14. The best evidence that the spheres vwere influenced by -

forces in addition to gravity was that, during each
“experiment, the observed values of acceleration were:

'F. equal to 9.8 m/sec’.

G. significantly lower than 9.8 m/sec’,

H. significantly higher than 9.8 m/sec’.

J. the same for spheres having different masses.

15. Based on the passage, if the plastic sphere is dropped
5 times from an altitude of 1 m, the average measured
time of fall will most likely be: '

less than 0.80 sec.
approximately 0.85 sec.
approximately 1.06 sec.
more than 1.60 sec.

TorEyP
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-16. In Experlment 1, should the students have used a stop-
watch that was accurate to the nearest second, and
why?

F. Yes, because both spheres took approxxmately

1 sec to fall to Earth.

Yes, because in 1 sec the spheres would have

fallen farther than they did in Experiment 1.

No, because the spheres took less than 1 sec to fall

. to Earth.

" No, because in 1 sec the spheres wOuld not have

* fallen as far as they did in Experiment 1.

G.
H..
J.

To show that a sphere’s acceleration is affected by air
resistance, in addition to the experiments in the
_passage, which of the following expenments can be
performed?

17.

A. In a sealed vacuum chamber contamlng no air,
the spheres are dropped from helghts of 2. 5 m and
9.7 m.

B. In a sealed vacuum chamber containing no air, the
spheres are rolled across the floor at a speed of
9.8 m/sec.

C. In a sealed vacuum chamber containing air at

atmospheric pressure, the ‘spheres are dropped

from heights of 2.5 m and 9.7 m.

In a sealed vacuum chamber containing air at

atmospheric pressure, the spheres are rolled across

the floor ata speed of 9.8 m/sec.

GO ON TO THE NEXT PAGE.



4000000000

Passage IV

All multicellular animals can be grouped within the
subkingdom Metazoa. Most metazoans are bilaterally
symmetrical (they have right and left halves that are nearly
identical). Biologists agree that metazoans evolved from
protozoans (single-celled organisms) over 600 million
years ago, but they do not agree on how this occurred.
Three theories are presented. - ‘ '

Cellularization Theory

Some biologists believe that metazoans evolved from
multinucleated protozoans (protozoans with many nuclei).
Separate cells formed when membranes developed between
adjacent nuclei. Later, cilia (hairlike structures), used for
movement, grew from each cell. These ciliated protozoan
ancestors then evolved into aquatic, bilaterally symmetrical
-~ metazoans similar to modern flatworms. Later, other
metazoans evolved from these flatworm-like creatures (see
Figure 1).

nuclei

developing
membranes

cilia

first flatworm-type metazoan

Figure 1

Colonial Theory

Other biologists suggest that many protozoans
grouped together into a hollow ball, or colony. This colony
evolved into the first metazoan. Each cell in the colony had

“a flagellum (movable tail) for movement. Initially, some of
these cells were better suited for reproduction, and these
became the reproductive cells of the metazoan. The first
- metazoans were aquatic, flagellated, radially symmetrical
organisms (body .parts arranged symmetrically around a
central point, as in modern jellyfish). All later metazoans
evolved from these.jellyfish-like organisms (see Figure 2).

ACT-55C-SAMPLE
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specialized
reproductive cells

ancestral protozoan coiony ,
(cross section through spherical colony)

first jellyfish-like metazoan

Figure 2

Separate Line Theory

Proponents of this theory argue that 2 separate
protozoan lines led to metazoans. Radially symmetrical
metazoans evolved from flagellated, colonial protozoans.
Bilaterally symmetrical metazoans evolved from ciliated,
multinucleated protozoans. The first metazoans of each
group were jellyfish-like creatures and flatworm-like
creatures, respectively. The 2 protozoan groups were only
distantly related to each other, and the evolution of aquatic
metazoans from the 2 protozoan groups occurred
independently and at different times. .

GO ON TO THE NEXT PAGE.



18.

19.

The Cellularization Theory does NOT include the
hypothesis that the earliest metazoans were:

F. ciliated. ’

G. aquatic..

H. hollow.

J. bilaterally symmetrical.

The development of which of the following character-
istics is addressed in the passage by the Colonial

" Theory, but NOT by the Cellularization Theory?

20.

21.

el

=

 ParEr

Body symmetry
Ciliated tissues
Multinucleated cells
Reproductive cells

Supporters of all 3 theories would agree with the
conclusion that the first metazoans: :

evolved from protozoans.’

G. are older than the first protozoans.
H. had many nuclei in each cell.

J. - were radially symmetrical.

‘Which of the following types of organisms, if present

today, would provide the most support for the Colonial
Theory?

Flagellated protozoans living in dense colomes
Flagellated protozoans living in hollow colonies
Ciliated protozoans living in dense colonies
Ciliated protozoans living in hollow colonies

ACT-55C-SAMPLE .
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23.

24,

G
H.
J
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Assuming that the Separate Line Theory is correct,
which of the following conclusions can be made about
modern hydras, which are radially symmetrical, and
modern flukes, which are brlaterally symmetrical?

F. Hydras and flukes radlally
symmetrical metazoans. Ny

. .Hydras and flukes evolved from brlaterallyf

~symmetrical metazoans.

Hydras and flukes are more closely related to each -

other than to protozoans. - '

. Hydras and flukes are only drstantly related
through protozoans.

evolved from

Which of the following questions is raised by the
Colonial Theory, but is NOT answered in the passage?

- A, Why did the flI‘St ﬂatworm llke metazoans have
cilia? ‘
B. Why were some: colomal cells better suited for |
reproduction? :
C. How could 2 lines of metazoans evolve from pro-
. tozoans?
D. How were multinucleated cells transformed into

cells with single nuclei?

Proponents of all 3 theories would agree with which of
the following, conclusions about the evolution of °
metazoans?

F. Bilaterally and radially symmetrical metazoans’
evolved at different times.

G. The first metazoan was a Jellyflsh -like organism
-with flagella. .

H. The evolution of metazoans led to the extinction of
protozoans. '

J. Bilaterally symmetrical metazoans are more

advanced than radially symmetrical metazoans.

GO ON TO THE NEXT PAGE.
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Passage V

-Rain causes’ sediment runoff (erosion) of rangelands,
which is affected by vegetation (grasses, leaves, and
branches) and animal trampling. Scientists 'conducted 2
experiments using identical-sized plots of soil with slight
slopes. Two soils that differed primarily in their sand
content were used. Soil 1 contained 60% sand and Soil 2
contained 25% sand. Sprinklers simulated rainfall. It was
noted that rain first collected in soil depressions, such- as
hoofprints, then overflowed and eroded the soil. Sediment
runoff was measured at the bases of the plots in grams per
" square meter (g/m?), following 1 hour of rain.
Experiment 1 : )

Vegetation cover was simulated using w1ndow screens
having various mesh sizes. The larger the number of mesh
squares per inch, the greater the simulated vegetation
cover. One plot was left uncovered, and screens of various
mesh sizes covered the other plots. Table 1 shows the
sediment runoff from each plot.

Table 1

Sediment runoff (g/m’) with a simulated
vegetation cover of:

Soil 0% 30% 50% - 70%
1 947 751 572. | 492
2 378 331 291 200
Experiment 2
Animal tram\pling was simulated by leading

a 500-kilogram (kg) cow back and forth over 2 plots of
each soil type until 30% of one and 60% of the other were
covered with hoofprints. One additional plot of each soil
type was left untrampled. Rainfall was simulated as in
Experiment 1. The-depth of water stored in hoofprints, in
centimeters (cm), is shown in Table 2, and the sediment
runoff produced by erosion is shown in Table 3.

Table 2

Water stored (cm) in hoofprints on plot that was:
Soil 0% trampled | 30% trampled | 60% trampled
1| 0 0.67 0.79
2. 0 0.65 0.52

ACT-55C-SAMPLE

Table 3
Sediment runoff (g/m?) from plot that was:
Soil | 0% trampled | 30% trampled | 60% trampled
1 347 © 730 801
2 . 282 307 311

Tables adapted from G. Gifford and M. Savabi, “Effects of
Simulated Canopy Cover and Animal Disturbances on Rill and
Interrill Erosion.” ©1989 by the Amerlcan Water Resources
Association.

25. Which of the foliowing assumptions was made in the
design of Experiment 1 ?

A. All soils will show the same amount of erosion -
under the same conditions.

B. Sprinklers do not adequately simulate actual
rainfall.

C. Grass is more important than trees in preventing
sediment runoff..

D. Simulated plant cover acts like natural plant cover
in protecting the soil from erosion by water.

26. According to the results of Experiments 1 and 2, one
can minimize soil erosion by:

F. increasing plant cover, decreasing the amount of
trampling, and using land covered with Soil 2.

G. increasing plant cover, decreasing the amount of
trampling, and using land covered with Soil 1.

H. decreasing plant cover, increasing the amount of
trampling, and using land covered with Soil 2.

J. decreasing plant cover, decreasing the amount of
trampling, and using land covered with either soil.
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27.

28..

If Expenment 2 were repeated using a different soil
containing 50% sand, which of the following would be
the expected water storage in soil hoofprints and
sediment runoff on a plot subjected to 60% trampling?

A. 0.89 cm water stored; 321 g/m’ sediment runoff
B. 0.86 cm water stored; 932 g/m2 sediment runoff
C. 0.71 cm water stored; 700 g/m2 sediment runoff
D. 0.56 cm water stored; 295 g/m” sediment runoff

In Experiment 2, after 30% trampling, water stored in
the two soil types was similar, but sediment runoff was
not. Which of the following statements is the most
likely explanation for the difference in sediment
runoff? :

F. Water stored in hoofpnnts has a significant
relationship to sediment runoff.

G. Water in soil hoofprints evaporates before it can

erode the soil.

H. A soil with a smaller percent sand is less suscep-
tible to erosion than soil with a higher percent
sand.

J. Sediment carried from higher areas of the plot is
trapped in soil depressions.
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29. If Experiment 1 were repeated using a soil ‘containing

50% “sand with 70% plant cover, which of the

- following would be closest to the expected sediment

runoff from this soil? -

Al 175 g/m2
‘B.. 200 g/m
C. 425 g/m
D. 500 g/m

30. To further ihvestigate the effect of vegetati'on cover on

soil erosion, the scientists should repeat Experiment:
F. 1, using plots planted with different grasses.

- G. 1, using no window screen.

H. 2, using plots with steeper slopes.
J. 2, using a third soil type.

GO ON TO THE NEXT PAGE.
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Passage VI ‘ ‘ . ; ' Key RN
- ‘ . : . - . e arctic-air mass
Earth’s atmosphere consists of various gases and sus- - , - = — = = tropical air mass
pended liquid and solid matter. The atmosphere ¢an be a . :
divided into layers based on air temperature and/or compo- © 30 —
sition. Figure 1 shows the layers of the atmosphere, the . ‘ ‘ S
altitude of the layer boundaries, in kilometers (km), and the 7
air pressure, in millibars (mb), at those' boundaries. - 27 !
Figure 2 shows the average air temperature, in degrees : "
Celsius (°C), in arctic (cold) and tropical (warm) air ' i
masses at various altitudes. Table 1 shows air pressure and o4 o L
temperature readings from weather instruments carried into ' » .
the stratosphere by balloons.on 2 separate days. '
21 !
/ )/
. d
18 k...
~ 7
215 ——
8 . ~ '
S > ]
12 <
u N
o
9 : N
\ \
3 N
6 2%
‘\
X N
: Altitude | Air pressure| - 3 , - N\, N
Layer of atmosphere- (km) (mb) : \ N
500 | 1.9x10° 0 R
- 206 -84 —73—62 —51 —40 2918 -7 +4 +15 +27+38 +49
400 34x10° o
. temperature (°C)
. , : ) : ;
thermosphere  ionosphere - 190 3.4 %10 . Figure 2
. 7 140 3.4x10° -
o D 90 34x107 '
0 km 72 3.4x1072
.mesosphere
: : — 50 34 -
chemosphere f o
ozonosphere
l Table 1
stratosphere 32 10.8
_ o . Temperature (°C) readings on:
Air pressure | Altitude :
' ' (mb) (km) - Day 1 Day 2
11 301
1,000 0 2 25
troposphere 900 0.9 0 15
surface - 0 1,013 700 2.9 -17 6
600 4.2 =25 - =2
- 500 5.6 -30 -12
400 7.2 -40 -20
Figure 1 . 300 9.1 =50 =32
250 114 =50 =50
200 13.7 —48 -58

(Note: Figure is NOT drawn to scale.)
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31.

.32,

33.

According to Figure 2, at approxunately which of the
following altitudes would 'a weather instrument
measuring air temperature be unable to distinguish
between tropical and arctic air masses?

A. 120km
B. 13.5km
C. 15.5km

D. 16.5km

Accordmg to Figure 1, several atmospheric layers
overlap one another. Which of the following describes
atmospheric layers that share part of a common

. altitude range?

Stratosphere and mesosphere
Stratosphere and thermosphere
. Mesosphere and thermosphere
Mesosphere and chemosphere

—-man

According to Figure 1 and Table 1, if the weather
instruments rose above 13.7 km, the air pressure would

most likely:

A. increase to more than 1,000 mb.

‘B. stay at 200 mb.

C. decrease to less than 200 mb.
D. decrease to 1,000 mb.

ACT-55C-SAMPLE

OO0 000000 <>4

34, Accordlﬁg to Figure 1, a weather instrument ‘readlng

an air pressure of 5 mb is most hkely in whxch of the

- following layers?

F. Troposphere

-G. Ozonosphere

H. Mesosphere . .

| “J. Ionosphere

.35,

According to Table 1, which- of the following

-~ statements best describes the relationship between

altitude and air temperature? .

A. The air temperature decreased with increasing
altitude on Day 1 only. :
B. The air temperature 1ncreased with increasing
i altitude on Day 1 only.
C. The air temperature decreased with increasing
- altitude on Day 2 only. ‘
D. The air temperature increased with increasing
altitude on Day 2 only.

GO ON TO THE NEXT PAGE.
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Passage VI

Bacteria, fungi, and viruses (microorganisms) cause
diseases and infections. Disinfectants are chemical agents
used on inanimate objects to kill or inhibit the growth of
microorganisms. Antiseptics are chemical agents used on
the skin to kill or inhibit the growth of microorganisms.
Several groups of disinfectants and antiseptics are depicted

in Table 1.
Table 1
Chemical Effective Mechanism
Groups agent against of action Preferred use
Alcohols ethanol bacteria, fungi, cell disruption, skin antiseptic and
some viruses stops protein thermometer
function, cleansing disinfectant
Halogen iodines bacteria, fungi, stops protein ‘ skin antiseptic
viruses function
Halogen chlorines bacteria, fungi, stops protein water disinfectant;
viruses function disinfectant used
on dairy,
restaurant, and
household
equipment
Heavy - Mercurochrome, bacteria stops protein skin antiseptic
metals Merthiolate function
Quaternary Zephiran, bacteria, fungi, cell disruption, skin antiseptic;
ammonium Cepacol viruses stops protein disinfectant for
compounds function instruments,
: utensils, and
rubber goods
Detergents soaps, surfactants .bacteria, fungi, cleansing, mechanical removal
viruses decreases of microorganisms
surface tension by scrubbing

ACT-55C-SAMPLE

52

GO ON TO THE NEXT PAGE.




: ant1

septics can be. dissolved either in alcohol (forming

a tincture) or water (forming an aqueous solution). The
- effectiveness of a variety of antiseptics against the normal
microbial flora of the skin is shown in Figure 1.

Tabl

bacteria surviving (%) - .

Key

Soap and water :
‘Agqueous Merthiolate 0. 1%
Tincture of Merthiolate 0.1%
Aqueous Zephiran 0. l% ’
50% ethanol :
Tincture of Zephiran
““70% ethanel} :

1%-iodine in 70% alcohol
. (tmcture of 10dme)

i

100"
-1-80

404

1\
=]
[

,

20

10 T T |.’- T T 10

20 40 60 - 80 100
time of exposure (sec)

120

Flgure 1

e. and Figure adapted from Tortora Funke, and Case,

Microbiology: An Introduction. ©1989 by The Ben]amln/Cummlngs‘ )

o PubI

36.

F.

|shmg Company

According to the‘-passage, the most effective antiseptic
against microorganisms is the one that leaves the:
Jlowest percentage‘ of surviving microorganisms in
the longest time of exposure.

 the shortest time of exposure.
highest percentage of surviving mlcroorgamsms in
the longest time of exposure.
highest percentage of surviving mrcroorganlsms in
the shortest trme of exposure.

G
H.
J

lowest percentage Of surv1v1ng mrcroorgamsms in .

000 ©©©©©©4

" The chemlcal agents that make up d1s1nfectants and_

37 Accordrng to the 1nformatron presented in Table 1 and, _

B ,‘B;:
- Ce
D

38

‘A,

Frgure 1, what conclus1on about the use of" alcohol as’
an antlseptrc may be reachied? ... . i,

Dissolving chemical agents in alcohol 1ncreases .
‘their effectiveness as antiseptics.” : ‘
Using 70% ethanol is ineffective as.an antrseptrc '
Increasmg the concentration of alcohol .decreases
its overall effectiveness as an antiseptic. =

The mechanism of -action for alcohol .as- an

antiseptic is unknown

Is 'the :statement ¢ tlnctures aré more effectxve agamst .
mlcroorgamsms than ‘aqueous’ solutions of .the same

*. antiseptic” supported by the 1nformatron presented in

: ; Figure 1, and why? .

39.

40.

F.. Yes, because trncture of Merthrolate is -more
: effectrve agalnst mlcroorgamsms than 1is aqueous
Merthiolate. '
"Yes, becatse 70% ethanol is more effectrve
" agdinst m1croorgan1sms than is tlncture of
“Zephiran. . =
‘No, because soap and water is more effectlve-
- against microorganisms than is 50% ethanol.
No, because aqueous Zephiran is more effective
-against microorganisms 'than  is tincture  of
Zeph1ran .

After you thoroughly wash: YOur hands 1With plain soap

- and water for 2 minutes, your hands probably carry:

B
oA
D.

A

the same number of bacteria as before most are

dead.

. the same number of bactena as before most are
- still alive. S

fewer bacteria than before; most are dead

fewer bacteria than before; most are still ahve :

'Aceordingv to Figure 1, if a researcher prepared a disinQ
. fectant solution of 60% alcohol,: the time of -exposure

required to kill 90% of the bacterra present would be

" F: 60 to 80 sec.

- G. 8010100 sec. -..

H. 100.to 120.sec.
J.. greater than. 120 sec

.

END OF TEST 4

STOP' DO NOT RETURN TO ANY OTHER TEST

ACT-55C-SAMPLE
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How to Score the Sample Test .
The remamder of this booklet provrdes scoring

) Scoring Your Sample Test

keys and score conversion tables. Follow the instruc- «

sample test and review your performance

Raw Scores

The number of questlons you answered correctly 5
on each test and in each subscore area is your raw -
score. Because there are many forms. of the ACT,

each containing different questions, some, forms will

“be slightly easier:(and.some slightly. harder) than -
_others. A raw score of 57 on one form of the English

‘Test, for example, may be about as difficult to earn.as
* ' a raw score of.60 on another form of that test: '

- tions below and on the following pages to score the

Percent At or Below . ’
Even scale scores don’t tell the whole story of

: ‘your test performance You' may’ want to know how _
© . your scores, comparelto the, scores of other students L
who take the ACT. ‘

The norms table: (Table 3 on page 60) enables

"you to compare your scores on the sample test with
the scores.of recent high school graduates who tested -
. as ‘sophomores, ‘juniors, or-seniors. The numbers .

reported in Table'3 are cumulatlve percents. A cumu-

lative percent is the’ percent of students -who scored

at or below a given score. For example, a Composrte.__ '
" score of 20 has a cumulatrve percent of 49. This

__means that 49% of the ACT-tested high school stu-
_dents had a Composrte score of 20 or-lower.

Remember that your scores-and percent at or

- below on the sample tests are only estimates of the

~ scores that you- will obtain-on an actual form of the

To compute your raw scores, check your answers

~ with the scoring keys on pages 55-57. Count the
- number of correct answers for each of the four tests

and seven subscore areas, and enter the numbers in

the blanks provided, on those’ pages These numbers :

are your raw scores on the tests and subscore areas.

Scale Scores

. To adjust for the smaII drfferences that ocecur
among different forms of the ACT, the raw scores for

- tests and subscore areas are converted into scale

scores. Scale scores are printed on the reports. sent

" to you and your college and scholarship choices.

When your raw scores are converted into scale

forms. For example, a ‘scale score of 26 on the

“English Test has the same meaning regardiess of the
form of the ACT on which it is. based.

~ ACT. Test scores are only one indicator .of your level

of academlc knowledge and skills. Consider your :
scores in connection with your grades, your perfor-
mance in outsrde actrwtres and your career mterests

"‘“R‘eviewing Your Performance
- on the Sample Test

After you have determined your scale scores and o

cumulative percents, consider the foltowmg as you

: evafuate how you did on the sample test

~ « Did you run out of. time before you ‘completed a

‘scores; it becomes possrble to compare your. scores =
© 'with those of examinees who completed different test

‘test? Perhaps you need to aderst the way you used
your time in responding to the questions. It isto -
your advantage to answer every questron and pace' '
yourself so that you can do. so. .~

~ ¢ Did'you spend too much time trying to understand

To determine the scale scores correspondrng to

your raw scores on the sample test, use the score
conversion tables, on pages 58-59.. The table on
page 58 shows the raw-to-scale 'score conversions

raw-to-scale score conversions for ‘the subscore
areas. Because each form of the ACT Assessment is

unique, each form has somewhat different conversion .

tables. Consequently, these tables provide -only
approximations of the raw-to-scale score conversions

that would apply if a different form of the ACT
-Assessment were. taken. Therefore, the scale scores
_obtained from the sample test would’ not be expected

to match precisely the scale scores received from a
national administration of the ACT Assessment.

for the total tests, and the table on page 59 shows the

the directions to the tests? If so, read the directions !
~ foreach test again thoroughly The-directions in the
. sample test are exactly like the directions that will
appear in your test booklet on the test day. Make
sure you understand them now, so you:won’'t have
‘to spend too much time studyrng them when ‘you i

- take the actual test.’

'« Review the questions that you -’mjissed. Dvid you

- 54

select a response that was. an incomplete answer

or that did not directly respond to the-question

being asked? Try to figure out what you overlooked
- in‘answering the questlons

+ Dida partlcular type of question confuse you? Did

the questions you missed come from a particular
subscore area? In reviewing your responses to the
sample test, check to see whether a partrcutar type
of question or a particular subscore area was more
difficult for you or took more of your time.



Scormg Keys for the ACT Sample Test Booklet 0255C

Use the scorrng key for each test to score your answer document for the sample test Mark a
“1” in the blank for each question you answered correctly Add up the numbers'in each subscore
_ area and enter the total number correct for each subscore area.in the blanks provrded Also enter .
" the total number correct for. each test in the blanks provided. The total number correct for. each
test is the sum of the number correct in each subscore area., : ; : '

Test 1: English—Scoring Key

Subscore - Subscoré .. ‘. ‘' Subscore .,

O N
—

Area* : - Area* o Area*
Key = UM  -RH Key UM -« RH Key. UM - RH’
1. B 26, J - . 51. D L
2. F 27, A o 52 G,
&.'p .~  __. . 28 G ..____ - - 5. A. B
4. G 29. A . .54 F- RE
5. C S 30, H B85 D
6. J- - 3. C ‘ 56. - F: . ,
7. ¢ ____ 32, F o : 57. C. N o
8. G . 33 D ' 58. G _
9. A A ” SR I - " B9..C o
10. H 3. C _ : 60. H .
11. B, 36. J - - 61. B
12. J , ‘ .37. . C - 62. H .
13. D - 38.  H 63. A ‘ :
14. H 39. A . 64, J
15, B . . 40, - H : 65.. B o
16. F " 41, D ‘ ' -66. H : o
17. B . 4. G R 67. B :
18. J ‘ 43. A 68. J
19. B = _ 4. F , 69. D -
20. J = ' 45.  C : 70. G L
A . 46, G o 71, C -
S22, J . 4. B . 72. F '
23. D ‘ - . 48U ' . .73 C . o
24. G - BT 49. C : , 74, G L
25 A ‘ 50 _ 75. A
‘ _ Number Correct (Raw Score) for:
Usage/Mechanrcs (UM) Subscore Area _
(40) -
Rhetorical Skills (RH) Subscore Area
Lo : (35)
| Total Number Correct for English-Test (UM + RH) . 75
S . ' 75)

* UM = Usage/Mechanics
RH = Rhetorical Skills
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TABLE 1

Procedures Used to Obtain Scale Scores from Raw Scores

On each of the four tests on which you marked
any responses, the total number of correct reésponses

yields a raw score. Use the table below to convert
your raw scores to scale scores. For each test, Iocate”-

and circle your raw score or the range of raw.scores
that includes it in the table below. Then, read across
" to elther outside column of the table and circle the
-scale score that corresponds to that raw score. As -

blanks provided on the right. The highest possible
scale score for each test is 36. The lowest possible
.. scale score for any test on which you marked any
\responses is1. ’

‘Next, compute the Composnte score by averagmg
the four scale scores. To do this, add your four scale

N Mathematrcs 3

‘scores and divide the sum by 4. If the resulting num- -

ber ends in a fraction, round it. off to the nearest who!e

~number. (Round down any fraction-less than.one-half; .
“round up any fraction that is one-half or more.) Enter - .

this number in the_ blank. This is your Compos;te
- score. The highest possible Composne score.is 36
<The |owest possibie CompOSIte score is 1.

- Reading -
. you determine your scale scores, enter them in the = . - R,
Science Reasoning .

ACT Test 0255C Your Scale Score

,Enghsh : ,‘

Sum of scores

Composrte score (sum 4)

NOTE If you left a test completely blank and marked -

no items, do not list a scale score for that test. If any .

~test was completely blank, - “do - not calculate a

Composite score. Now go to page 59 and use the
table to convert ra}w scores on the subscore areas to

- scale subscores

‘ Raw Scores .
Scale Test 1 Test2 - Test3 Test4 | -Scale
Score English Mathematics " Reading . | Science Reasoning | .Score
36 75 60 39-40 40 36
.35 - 59 38 39 35
34 74 58 37 — 34
33 73 57" 36 . 38 33 -
32 72 54-56 35 ’ v 37 32
31 70-71 " 52-53 34 36 31
.30 68-69 50-51 33 — 30
29 66-67 48-49 32, 35 29
28 64-65 48-47 31 33-34 28
27 61-63 ; 44-45 30 ~32- 27 -
26 58-60 42-43 29 31 -+ 26
25 56-57 40-41 '27-28 29-30 .25
24 53-55 .37-39 26 28 24
23 51-52 35-36 25 26-27 23
;22 49-50 33-34 23-24 +24-25 22
21 46-48 31-32 22 23 . 21 .
.20 . 43-45 29-30 20-21 21-22 20
19 41-42 26-28 19 19-20° 19
18 38-40 23-25 18 17-18 18
17 - 35-37 20-22 17 14-16 17
16 32-34 17-19 16 13 16
15 29-31 14-16 -15 11-12 15
14 26-28 12-13 13-14 -09-10 14
13 24-25 10-11 12 08 13
12 22-23 08-09 10-11 06-07 12
11 20-21 06-07. 08-09 05 11
10 17-19 05 07 — 10
9 14-16 04 06 04 9
8. 12-13 — 05 03 8
7 10-11 03 — 02 7
6 08-09 02 - 04 —_ -6
5 06-07 — 03 — 5
4 05 — —_— .. 01 -4
3 03-04 01 02 — 3
2 02 — 01 — 2
1 00-01 00 00 00~ 1
. 0255C
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ACT ANSWERS 0255C

ENGLISH
1
2
3.
4.
5
6
7
8

9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22,
23.
24,

OUC>P“C“WCWWTNMIOCWI>P>POOCOMOT T

N
o
>

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46. G
47.B
48. )
49.C
50.J

OTMP>O0I>ITOCO<COTOI>P>OI»<

51.
52.
53.
54,
55.
56.
S7.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.

D
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ACT ANSWERS 0255C

CoNoo~WNEZ

>
|
I

MUTMO“UPOTNMUTITWTXOXTMPRTCPROTCO<OT>

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45,
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
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R
1
2
3.
4.
5
6
7
8

9.
10.
11.
12.
13.
14.

OOUO“C>“CWOP>PCP>PWI®E

EADING

15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.
28.

TMTUOTM>POWIOIONOO >

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
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SCIEN
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15.
16.
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21.
22.
23.
24,
25.
26.
27.
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29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
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